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E:] 100 | 22| 4 132 FIEEE D KR—5& 4 12.35 | +0.1
E: 100 | 22| 5 141 Hft EX KiR—5 6 12.68 | +0.1
] 100 [ 22] 6 143 W EMH KiR—= 3 12.32 | +0.1
E:] 100 | 22| 7 108 EEES T/NE&h 2 1229 | +0.1
] 100 [22] 8 811 F R E tEts 5 1249 | +0.1
E:] 100 | 23 1 834 R )l # Bl | BREIZES 8 13.24 | +0.8
] 100 [23] 2 3056 |1 Bk BXRER| BRRIES 1 1206 | +0.8
E: 100 | 23| 3 1 IESERETN REIH 4 12.44 | +0.8
E: 100 [ 23] 4 869 g B R T 5 3 1243 | +0.8
E:] 100 | 23 5 882 K EELFJI.—, 7 12.73 | +0.8
E: 100 | 23| 6 1003 X8 EBE —PBA5E 2 12.11 +0.8
E: 100 | 23| 7 313 B H E F REI%.—, 5 1257 | +0.8
E:] 100 | 23 8 315 ZF B i) ,\‘,RJ?LI%.—, 6 1258 | +0.8
E: 100 | 24 1 15 =H FKX FES 5 12.60 | +0.5
2 100 | 24| 2 1651 FHh EF {t&sh 6 1284 | +05
E 100 | 24| 3 16 =i B TES 1 12.06 | +0.5
E:l 100 [ 24| 4 839 |#&EAK # A| BERRIES 7 13.03 | +05
E: 100 | 24| 5 843 R % —| BREIEXS 3 1250 | +0.5
E 100 24 6 171 =SaI1HE R =R 4 1255 | +0.5
5 100 |24 7 7717 A SR XM DQ
E: 100 | 24| 8 875 ki ER EETLS 2 1246 | +0.5
E] 100 | 25| 2 308 FH &4 dtt-Fsh 6 12.61 +0.1
E: 100 | 25| 3 652 FH i KREH DNS
] 100 [ 25| 4 497 =F =3 L5 4 12.45 | +0.1
E] 100 | 25| 5 694 AfE B 21 £ 35 3 12.37 | +0.1
E: 100 | 25| 6 331 AGRH BEX —BEE—5 2 1220 | +0.1
] 100 [25] 7 821 = PE EEES 1 1205 | +0.1
E] 100 25 8 474 WAEE LErh 5 12.46 | +0.1
E: 100 | 26 1 512 fhtx E5E REHIS 2 12.35 | +0.4
E: 100 | 26| 2 530 =g EAER Jt kg 6 12.82 | +0.4
E] 100 | 26| 3 977 TE EBA —BEE—5 1 1225 | +0.4
E:] 100 | 26| 4 420 BHE BEFE ERE R 5 1267 | +0.4
E: 100 | 26| 5 465 T S REILS 4 12.64 | +0.4
E: 100 | 26| 6 865 #HBHE EE R T 5 7 1338 | +04
E:] 100 | 26 7 205 ERK E AL YA ) 3 1253 | +0.4
E: 100 | 26| 8 211 o EH REHIIS DNS
E:l 100 | 27 1 580 25 - ILHF 1 1236 | -0.2
E: 100 | 27| 2 816 I [Esh EEES 3 1244 | -0.2
E 100 | 27 3 1327 =H F7 dtE-mo 5 1279 | -0.2
E:] 100 | 27| 4 646 L JKiREg 8 13.02 | -0.2
E: 100 | 27| 5 654 =l EE KRE s 4 1256 | -0.2
E] 100 | 27] 6 307 {ERK B dtt-FEsh 7 12.89 | -0.2
E:] 100 | 27| 7 374 K 4 RE[E R = 6 1279 | -0.2
] 100 | 27 8 189 = H 15 r—LT/TC 2 1242 | -0.2
E] 100 [28] 1 833 =i —1E XM 3 1277 | -1.2
E:] 100 | 28| 2 1531 KR B & 5 1283 | -1.2
E: 100 | 28| 3 54 28 KI5 it&dtsh 1 1265 | -1.2
E: 100 | 28| 4 863 falER BEE EETLS 7 13.01 -1.2
E:] 100 | 28] 5 527 mE B RHEES 2 1272 | -1.2
E: 100 | 28| 6 1311 A HO= E[EE: 8 1310 | -1.2
E: 100 | 28| 7 660 AH E=HE KREH 6 1289 | -1.2
] 100 [ 28] 8 301 mnEs BE L E-FEf 4 1277 | -1.2




" | B | M |[L—|ERES K4 & 6| & | 25 | EE
] 100 [29] 1 208 Pk Eh JKiR s 3 1273 | -05
E: 100 | 29| 2 810 ZEH B %Effﬁl.—, DNS
E:] 100 |29 3 893 EEEE ] B% [if) 58 1 1243 | -05
E:] 100 [29] 4 817 HE ME 'EEI’J%.—] DNS
E: 100 | 29| 5 375 N mth RS 4 12.89 | -05
E] 100 [29] 6 776 3Kk g XM 5 1291 | -05
E:l 100 | 29 7 697 ki X TEEEXS 2 1249 | -05
E: 100 | 29| 8 105 A fE & 7 Nz F| A=) 6 13.15 | -05
E:] 100 [30] 2 252 BEH &3 BX5 7 13.28 | -0.9
E: 100 | 30| 3 855 FH #HXE L&k S 4 12.85 | -0.9
E: 100 | 30| 4 884 gl XE REILS 3 12.70 | -0.9
E:] 100 [30] 5 887 ERN £i8 R T 5 2 1250 | -0.9
E:] 100 | 30| 6 305 £ 42K ,’fE—L dtt-FEsh 5 1298 | -09
E: 100 | 30| 7 721 FH &3l ZABEIS 6 13.23 | -0.9
E:] 100 | 30| 8 698 e ﬁr‘é‘é‘ TEEEEXS 1 1240 | -0.9
E:] 100 | 31 1 753 £H xH AL YA ) 1 12.23 | +0.4
E: 100 | 31 2 879 ﬁﬁEJII 04t RETLS 7 12.84 | +0.4
E: 100 | 31 3 926 Ee RE KREXES 4 12.62 | +0.4
E:] 100 | 31 4 589 INEB EA IHF 6 12.80 | +0.4
E: 100 | 31 5 128 KA B3t KR—F 5 12.63 | +0.4
E:] 100 | 31 6 125 BHAE 7K,R = DNS
E 100 31 7 335 = —PBa5s 2 12.33 | +0.4
E: 100 | 31 8 128 ERKIEXR a %@EP 3 1258 | +0.4
E: 100 [32] 1 210 B X JKiR e 6 1298 | +1.1
E 100 | 32 2 167 F)UEK =RF DNS
E: 100 | 32| 3 757 MM 5B REHIS DQ
E: 100 | 32| 4 754 ER RE A YR =) 2 1246 | +1.
E:l 100 [ 32] 5 751 R —E R T i o 1 12.21 +1,
E:l 100 | 32 6 752 KB #HA RETHILS 5 12.75 | +1.
E: 100 | 32| 7 810 Zih RN BILR B 2 1% 4 12.69 | +1.
E:] 100 | 32 8 536 G FX bt 3 1260 | +1.
E: 100 | 33 1 726 INEE G Eal DNS
E: 100 | 33| 2 19 Fih 518 ER—th 1 12.62 | +0.7
E:] 100 [33] 3 1734 FHE FH =RG DNS
E:] 100 | 33| 4 218 B3 =iE JKiRch 4 13.03 | +0.7
E: 100 | 33| 5 812 BH SAER BILR B X 1% 2 1291 | +0.7
E:l 100 | 33| 6 1405 th ¥7 K5 EEARTH DNS
E] 100 | 33| 7 304 =ik 15 Jt E-FEh 5 1312 | +0.7
E: 100 | 33 8 311 hiE #F JtE-FEd 3 12.96 | +0.7
E:] 100 |34 1 720 FlEX Zih EL X 2 1250 | +0.4
] 100 [34] 2 483 R 2t L8 DQ
E: 100 [ 34] 3 190 2l FaA R—LIT/TC 3 1254 | +0.4
E: 100 | 34| 4 917 NI Exat) 1 12.36 | +0.4
E] 100 | 34| 5 800 TiXk B BX5 5 1275 | +0.4
E: 100 [ 34] 6 591 JINERE & I89Fh 6 12.82 | +0.4
2 100 | 34 7 487 e Kt LE5rh 4 1259 | +0.4
E 100 34 8 1079 EIBILAER A% 7 13.06 | +0.4
E: 100 | 35| 2 528 [SENP.N EHEES 1 12.64 | +0.6
E: 100 | 35| 3 845 FiE X TS 4 13.36 | +0.6
] 100 | 35| 4 1599 FE FEE R kb DNS
E: 100 | 35| 5 1738 ki —3 KAl 5 1355 | +0.6
E: 100 | 35| 6 846 NP WEE TS DNS
E:] 100 [35] 7 1366 INEREE EEARTH 3 12.99 | +0.6
E: 100 | 35| 8 207 fEE B REHIS 2 12.97 | +0.6




" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E:] 100 | 36 1 290 ;8 HE Eal 8 13.15 | +1.2

E: 100 | 36| 2 657 J\ER %h8A KREH 2 1261 | +1.2

E:l 100 | 36| 3 647 ik 2 KiRE 3 1274 | +1.2

E:] 100 | 36| 4 202 Hik B3 REHIIS 4 12.88 | +1.2

E: 100 | 36| 5 212 Ziz K REHIiIS 1 1215 | +1.2

E 100 | 36 6 642 INE EEth KREH 7 1297 | +1.2

E:l 100 | 36 7 22 Hi & )R- R 5 12.94 | +1.2

E: 100 | 36 8 1741 Fik B ERZ 6 1297 | +1.2

E:] 100 | 37 1 798 =2 EA KiR—& 7 13.31 +0.1

E: 100 | 37| 2 479 EEEEIE L ¥k 1 1252 | +0.1

E: 100 | 37 3 498 =F &3 LEprh 3 13.06 | +0.1

£ 100 | 37| 4 184 HH RE ERH 2 12.81 +0.1

] 100 [37] 5 854 =48 BB tEfES 4 1308 | +0.1

E: 100 | 37 6 484 AR L5 8 13.37 | +0.1

5 100 | 37 7 221 Sl Ft KR 6 13.19 | +0.1

E:] 100 | 37 8 138 T IR KR—& 5 13.10 | +0.1

E: 100 | 38| 1 58 g EE S FED 8 1397 | -0.3

] 100 [38] 2 727 2l BE XES 1 1257 | -0.3

E:] 100 38 3 659 I EEth KREH 4 13.28 | -0.3

E: 100 | 38| 4 111 Il EX T/ ke 6 1339 | -0.3

E: 100 | 38| 5 1381 N 2 T/ 3 13.05 | -0.3

E:] 100 [38] 6 52 INE H 1EEde 7 1369 | -0.3

E: 100 | 38| 7 60 MEE HER iR E R (FD 2 1273 | -0.3

E: 100 | 38| 8 142 FE =Z=E KR—& 5 1329 | -0.3

E] 100 [ 39] 1 183 =F HUHK =RH 2 1312 | -0.2

] 100 [39] 2 876 ZH EBE BETIS 7 13.71 | -0.2

E: 100 | 39| 3 122 Wik = T/ 1 12.83 | -0.2

E:l 100 [ 39| 4 1087 i Hen LHT 5 1354 | -0.2

E:] 100 | 39| 5 423 Mg £ ERER DQ
3 100 | 39 6 73 FHith 1F1T B 7 R)—k 3 13.39 | -0.2

E:] 100 [39] 7 886 Il EE EELS 6 13.69 | -0.2

E:l 100 | 39 8 868 INE fFEK RE TS 4 13.39 | -0.2

E: 100 | 40| 2 813 EH LT BILR B 2 1% 2 12.92 | +1.4

E:] 100 [ 40| 3 1481 MO [HX JKiR e DNS
E:] 100 | 40| 4 1439 B e KiRE 3 1335 | +1.4

E: 100 | 40| 5 21 kg B EIR—h 4 1336 | +1.4

E: 100 [ 40| 6 1004 AREE e BEE 1 1267 | +1.4

E] 100 | 40| 7 1295 SEZEK EEAH DNS
E: 100 | 40| 8 292 =8 WA b E-Fh 5 1410 | +1.4

E:] 100 | 41 1 309 TH & L E-Fh 7 1354 | +0.1

E:] 100 | 41 2 590 J\ERZ FHith I89Fh 1 12.95 | +0.1

E:l 100 | 41 3 583 R EES I8F 2 13.09 | +0.1

5 100 | 41 4 61 BH KE iR E R (FD 4 13.30 | +0.1

5 100 | 41 5 1372 kg BE ¥ 3 13.14 | +0.1

E 100 | 41 6 1380 =H =i LE5rh 8 13.60 | +0.1

E 100 41 7 534 EAX BE Jt kb 6 13.41 +0.1

E: 100 | 41 8 1404 WA S it&dts 5 13.38 | +0.1

E] 100 |42 1 582 Rl &= I89F 6 13.89 | -04 [(BL—X)
E:] 100 [42] 2 129 mnEaEE KiR—& DNS
E: 100 | 42| 3 588 Hig RiX I89F 7 13.99 | -04 |(BHL—R)
E: 100 | 42| 4 62 =48 R D NEaalC o) 2 1318 | -0.4 | (FL—XR)
E:] 100 | 42 5 300 AA 8K dtE-Fmo 5 13.73 | -04 |(@L—X)
E: 100 | 42| 6 509 RE B — B — &M 4 1359 | -04 |(EHL—R)
E 100 | 42 7 113 fif —E5 T/NE& 1 1305 | -04 |(@EL—X)
] 100 [42] 8 735 EiEH R IEE 3 13.38 | -04 [(BEL—X)




" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E:] 100 | 43 1 1391 =k £ E=RH 5 13.71 +0.6

E: 100 | 43| 2 438 AKX BE TS 4 1371 | +0.6

E:l 100 | 43 3 1737 EAR BA Rarg 7 1453 | +0.6

E 100 43 4 1329 ¥H X HpEd 6 1423 | +0.6

E: 100 | 43| 5 1382 | A4/ K EEK L 2 13.43 | +0.6

] 100 | 43| 6 1740 =5 i\t R 8 1468 | +0.6

E:l 100 | 43 7 49 EEF BEA E&dtsh 1 13.27 | +0.6

E: 100 | 43 8 186 FE MEA ERH 3 13.64 | +0.6

] 100 |44 1 537 e L Eh 7 1435 | +1.1

E 100 44 2 17 L5 K& FER=h 4 1365 | +1.1

E: 100 | 44| 3 1423 = B JKiREE 5 13.65 | +1.1

E: 100 | 44| 4 176 HE S8 =RTH 2 13.37 | +1.1

E:] 100 | 44| 5 655 AHE Rt KREH 3 1358 | +1.1

E: 100 | 44| 6 667 =8 E# KREg s DNS
£ 100 | 44 7 981 ZFHE AL {t&sh 1 13.03 | +1.1

] 100 [44] 8 584 INE R IEF 6 1409 | +1.1

E: 100 | 45| 2 1384 P /& 6 1413 | +0.2

E: 100 | 45| 3 984 T AR {t&sh 3 13.26 | +0.2

E:] 100 | 45| 4 1397 BB F it&dth 4 13.72 | +0.2

E: 100 | 45| 5 1399 HRE A 1E&deh 2 1318 | +0.2

E: 100 | 45| 6 34 ¥H #X =Emh 1 13.05 | +0.2

E] 100 | 45| 7 18 /INER Bt EIRZ 7 1452 | +0.2

E: 100 | 45| 8 63 = #th iR E R (FD 5 1411 | +0.2

E: 100 | 46 1 673 e — KREH 7 14.77 0.0

E] 100 | 46| 2 1370 *EEL EEAS 4 14.33 0.0

E: 100 | 46| 3 137 45t KH EEAF 1 14.05 0.0

E: 100 | 46 | 4 64 ki FHl 5 iR E R (RN 3 14.18 0.0

E:l 100 | 46 5 741 fERE= dtEh 6 14.59 0.0

E: 100 | 46| 6 191 +£H FBk R—LI/TC DNS
E: 100 | 46| 7 1371 HIEEENRE EEAH 5 14.54 0.0

E 100 | 46 8 1398 X BA {t&dtsh 2 14.15 0.0

] 100 [47] 1 65 k& BEFE &iRE R GED 1 13.82 | +0.9

E: 100 | 47 2 310 TH H#th dtE-mEd 2 14.09 | +0.9

E: 100 47 3 1440 A BA JKRE 6 1440 | +0.9

E:] 100 | 47| 4 1424 =ik 22X KREH 7 1440 | +0.9

E: 100 | 47| 5 1428 | tEAK B KREg 3 1418 | +0.9

E:l 100 | 47| 6 1434 AK E KREH 5 1436 | +0.9

E] 100 | 47| 7 219 AEH XE JKiR e 4 1418 | +0.9

E: 100 | 47| 8 143 TR R Bk HEEA/H DNS
E: 100 | 48[ 2 1369 N EEARTH 1 1418 | -0.2

E:] 100 | 48 3 1383 wmR HE T/ & 2 1435 | -0.2

E: 100 | 48| 4 220 EARREER JKiR e 5 1477 | -0.2

EZ 100 48 5 1326 ik KA dtE-Fe 4 1459 | -0.2

E 100 48 6 1478 fEik F3l KR 6 1497 | -0.2

E:] 100 | 48| 7 1393 FEH EX EAHF DNS
E: 100 | 48| 8 1395 ENTE EHH 3 1442 | -02

E] 100 |49 2 1801 INR R & 7 15.51 -0.9

E: 100 | 49| 3 1438 RZE KRE 6 1538 | -0.9

EZ 100 49 4 1422 e I 3] JKRE 1 14.41 -0.9

E:] 100 | 49 5 1429 ki FRIE JKRE 5 15.36 | -0.9

E: 100 | 49| 6 1432 T 3 IN KREa 4 1500 | -0.9

E: 100 | 49| 7 66 ki BEX 5 iR R (RO 2 1464 | -09

E:] 100 | 49| 8 1480 B IEHR JKiR e 3 1494 | -0.9

E: 100 | 50| 3 1368 ERTE EEAH DNS
E: 100 | 50| 4 983 ERK K it&s 1 12.70 | -

E:l 100 [ 50| 5 1479 Bf £ KR h 5 15.71 —

E: 100 | 50| 6 32 EARKR = Fh 2 1422 | -

E: 100 | 50 7 1390 At F®X EERH 3 1445 | -

E:] 100 50 8 1392 FE B oy =lan 4 1463 | -

9




" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E:] 100 | 51 3 936 = BX FES 1 12.80 | +0.2
E: 100 | 51 4 1687 falEp EH it £ 4 16.03 | +0.2
E:l 100 | 51 5 1690 H S JtEh 2 14.91 +0.2
E:] 100 | 51 6 67 FhlE SEA iR E R (FD 3 15.31 | +0.2
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E:] 200 1 1 427 HE & 5FX 1 2175 | +1.6
] 200 1 2 369 BH Kt I 5 2208 | +16
E:l 200 1 3 1321 BE RIE shETH &R F(E) 6 2212 | +1.6
E:] 200 1 4 345 #aE & RE[E R = 2 2177 | +1.6
E: 200 1 5 478 IEXR {HEE ERETLS 4 2203 | +1.6
E: 200 1 6 228 =5 W TtEES 3 2194 | +16
E:] 200 1 7 347 - RE[E R = DNS
E:] 200 1 8 403 INE B9 52FXK DNS
] 200 2 1 416 EO #X 2FX 4 2272 | +1.6
] 200 2 2 309 =2 B XK E| BERRIZS 6 2282 | +16
E: 200 2 3 468 211 k& BT S 3 2262 | +1.6
E:] 200 2 4 235 INER B TEERS 2 2256 | +1.6
] 200 2 5 237 SR SFABER TtEES 7 2288 | +16
E: 200 2 6 344 BEEA % R[] B = 1 2211 | +1.6
] 200 2 7 242 il 2 EERS 8 2317 | +1.6
] 200 2 8 247 Bz 23 TtEES 5 2273 | +16
E: 200 3 1 612 mi)ll BA =FEER 7 2315 | -1.2
E:] 200 3 2 365 T4 {618 REES 4 2274 | -12
E 200 3 3 425 B EDN 2FXK 5 2294 | -1.2
E: 200 3 4 626 far FiE =2F X DNS
5 200 3 5 185 RiE ME BFXED 2 2241 | -1.2
E] 200 3 6 193 JIE HE—ER REE—5 3 2259 | -1.2
E: 200 3 7 744 S HE3} EFEIKXRFE 1 2223 | -1.2
E: 200 3 8 109 £ XK % Nz-F| A=) 6 2313 | -1.2
E] 200 4 1 308 5 H B ERRIES 8 2397 | +2.3
E:l 200 4 2 439 iy & TS 3 2320 | +2.3
E: 200 4 3 422 Tk %k EFX 1 22.30 | +2.3
E:] 200 4 4 25 FIE & FEHS 7 2368 | +2.3
E: 200 4 5 106 X K B t&Ets 2 2306 | +2.3
E: 200 4 6 231 #HAR RIL TtEES 6 2347 | +2.3
E:] 200 4 7 303 2 H il K| BRERIZES 5 2346 | +2.3
E: 200 4 8 306 E B IFE BE| BERRIEXS 4 23.41 +2.3
E: 200 5 2 140 HIE #Ei KR—& 7 2383 | +15
E:] 200 5 3 16 WA HEKER J\IE F BER 3 2317 | +15
E:] 200 5 4 18 aH = TFES 4 2332 | +15
E: 200 5 5 354 AER = R[] B = 1 2248 | +15
E: 200 5 6 123 FEEiRth EEARTH 6 2342 | +15
] 200 5 7 360 Ak EX e R = 2 2300 | +15
E: 200 5 8 194 B KE2 EEE—S 5 2340 | +15
E:l 200 6 1 411 Fik B2 REENS 6 2425 | +1.1
E] 200 6 2 403 (SEEPS REMENS 4 2387 | +1.1
E: 200 6 3 469 BE Fth REILS 3 2330 | +1.1
E:] 200 6 4 1324 XE BE R EREE) DNS
E] 200 6 5 137 Ek EA KiR—& 5 2403 | +1.1
E:] 200 6 6 103 HE BRA T/ ke DNS
E: 200 6 7 405 R EX REENS 1 2282 | +1.1
E] 200 6 8 410 iR HWE REMENS 2 2288 | +1.1
E: 200 7 1 814 INE BE B[ R = 3 2333 | +1.0
E: 200 7 2 504 BE =/ — B — =g 6 2413 | +1.0
(] 200 7 3 283 FE EN N 5 2386 | +1.0
] 200 7 4 413 fE BEF M ENS DNS
E: 200 7 5 203 BN EiK REHIiIS 1 2265 | +1.0
E] 200 7 6 508 W EE AL DNS
E: 200 7 7 495 HHE MmE L&k S 4 2358 | +1.0
] 200 7 8 363 ¥y XHBE RS 2 2312 | +1.0
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E: 200 8 1 54 XH GEN HEEh(E) 6 2432 | +1.2
E: 200 8 2 53 =8 Bh FJEE P (E) 2 23.51 +1.2
E: 200 8 3 52 IR IEGK FEEh(E) 5 2408 | +1.2
E:] 200 8 4 760 EE B REE— 3 2373 | +1.2
E: 200 8 5 330 FigE 218 —BEE—5 7 2445 | +1.2
] 200 8 6 373 FiE Fix Pk 1 2295 | +1.2
E:] 200 8 7 51 ZH & SHEE R (E) 4 2381 | +1.2
E: 200 8 8 50 IH REtH F{EE P (E) 8 2484 | +1.2
E:] 200 9 1 652 FH i KREEH 7 25.01 +1.3
E 200 9 2 356 ¥7H KE Al 1 2308 | +1.3
E: 200 9 3 342 Fith o REES 8 25.31 +1.3
E: 200 9 4 9 INEFFE BAN TES 2 2327 | +1.3
E:] 200 9 5 474 BE AKX EEILS 3 2386 | +1.3
] 200 9 6 852 INE ER TEEES 6 2439 | +1.3
E: 200 9 7 596 }H £X HpEsh 4 2398 | +1.3
E:] 200 9 8 450 fIER &2 REIS 5 2438 | +1.3
E: 200 [ 10] 2 3056 [ Bk BXRER| BRRIZES 4 2432 | +3.2
E: 200 [ 10] 3 627 MR FREE EFX 1 2301 | +3.2
(] 200 [ 10] 4 328 A58 EE —BEE—5 2 2359 | +3.2
E:] 200 [ 10] 5 571 Z1E BE EAC DNS
] 200 [ 10] 6 415 A Eff 52FXK DNS
E] 200 [ 10] 7 311 2 B 3 2| BERERIZES 3 2413 | +3.2
E: 200 | 10] 8 313 B H E F| BERREIXS 5 2487 | +3.2
] 200 | 11 1 1309 am ZE E[dE: 5 2550 | +1.5
E] 200 | 11 2 1081 RIF Bk LHAH DNS
E:l 200 11 3 843 R E — BERARIES 4 25.41 +1.5
E: 200 | 11 4 315 Z B 5 BERRIES 3 2502 | +1.5
5 200 | 11 5 834 | R JIl # Ml [ BREIXS 7 26.44 | +15
E:l 200 11 6 839 |#&EAXK # A| BRRIES 6 2598 | +1.5
] 200 | 11 7 815 Iith Bk REES 2 2448 | +15
E:] 200 | 11 8 110 E B T E t&its 1 2442 | +15
E: 200 | 12 1 308 FH &N JtE-FEh 6 2553 | +0.4
] 200 [12] 2 1003 X8 BE —HEE—5 2 2442 | +04
E:] 200 | 12| 3 455 ER BEX EELS 1 2441 | +0.4
E:] 200 [ 12] 4 462 BHE Ak & /7 G BT BER 4 2472 | +0.4
E: 200 [ 12] 5 141 Hft EX KR—& DNS
E: 200 [ 12] 6 113 B i X &L s 5 2517 | +0.4
E:] 200 | 12] 7 40 AH EA iE&jtth DNS
E: 200 [ 12] 8 11 Mt B J\I - BE 173 3 2449 | +0.4
] 200 [ 13] 1 821 = HE2 P 1 2433 | +0.2
] 200 13 2 1313 Bl R ik 2 2435 | +0.2
E: 200 | 13] 3 872 AR EBE REILS 3 2449 | +0.2
E:] 200 [ 13] 4 581 MAE) KEZ I8F 6 2479 | +0.2
E] 200 | 13] 5 457 gk Eq BT E 7 25.01 | +0.2
E: 200 | 13] 6 53 kiE B3t t&dtsh 4 2450 | +0.2
E: 200 [ 13] 7 816 T Esh IS 5 2478 | +0.2
E:] 200 13 8 54 25 KI5 E&dtbsh 8 2579 | +0.2
E 200 14 1 1312 _,% g2 ik 6 2548 | +0.2
E:] 200 | 14] 2 412 =g 3t EIRmES$ 1 2431 | +0.2
E] 200 | 14] 3 143 W ER KiR—& DNS
E: 200 | 14] 4 498 ;A = tEkES 5 2544 | +0.2
E: 200 14] 5 497 =F =3 LE5rh 4 25.27 | +0.2
E: 200 14 6 481 FiE RiF 8 DNS
E:l 200 14 7 465 T S EEIS 3 2494 | +0.2
E: 200 | 14] 8 335 =l R —BEE -5 2 2469 | +0.2
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E: 200 [ 15] 2 1004 AREFEE e[ B 6 2579 | +0.2
E: 200 | 15] 3 729 Il ME KES 3 25.02 | +0.2
E: 200 15| 4 124 KIEREEA AERT 2 2483 | +0.2
E 200 15 5 182 gl L 2PN E=RH 1 2447 | +0.2
E: 200 [ 15] 6 307 ER K Bk L E-FEf 5 2552 | +0.2
E:] 200 | 15] 7 738 G Al ZARR 7 2597 | +0.2
E:] 200 [ 15] 8 917 NI 055 4 25.06 | +0.2
E: 200 [ 16 ] 1 810 ZEH B ZRBEIS DNS
E] 200 [16] 2 208 FEk Eh JKiRdh 2 2490 | +1.9
E: 200 [ 16 ] 3 458 EARKR R BETES 4 2516 | +1.9
5 200 16 4 817 HE WE REES DNS
] 200 | 16] 5 819 ik wmE P 3 2492 | +1.9
E:] 200 [ 16] 6 409 S #3t ERE R 1 24.31 +1.9
E: 200 [ 16] 7 646 IR EH JKiREg 6 2598 | +1.9
E: 200 [ 16] 8 374 REFE 4 Pk 5 2543 | +1.9
E:] 200 [ 17 ] 1 654 =A EE KiRE 4 25.34 | +3.8
E: 200 17 2 531 N dt Lt DNS
E:l 200 | 17 ] 3 977 TE EBA —BEE—5 2 2456 | +3.8
(] 200 [17] 4 331 ARH BEE —BEE—5 1 2432 | +3.8
E: 200 [ 17] 5 1 JIESER=IN RErsg 5 2550 | +3.8
E: 200 [ 17 ] 6 305 fEAR XK w3 L E-FEf 6 2598 | +3.8
5 200 | 17| 7 189 =@ B R—LIa/TC 3 2501 | +3.8
E: 200 | 17] 8 647 ik =E KRE 7 2656 | +3.8
EZ 200 18 1 798 =28 EA KR—& 7 2714 | +0.1
E:] 200 | 18] 2 218 =3 BiE KR 4 26.04 | +0.1
E: 200 | 18] 3 68 £ HX iR E (R 2 2478 | +0.1
E: 200 | 18] 4 1078 kiE Ri5 LFH$ 6 26.93 | +0.1
E:] 200 | 18] 5 580 BiE_ - L8 Fh 3 25.44 | +0.1
E: 200 | 18] 6 925 £ tho KREXES 1 2446 | +0.1
E: 200 | 18] 7 721 FH &3l EABEIS 5 26.16 | +0.1
E:] 200 | 18] 8 583 BRI EEN I89F DNS
E:l 200 19 1 589 INERE ¥ IFo 5 25.61 +0.4
E: 200 [ 19] 2 591 INER & SI89F 4 25.61 | +0.4
E: 200 19 3 1327 =H F7 dtE-FEo 3 2555 | +0.4
E:] 200 [ 19] 4 926 Ea RE KREXS 2 25.51 +0.4
E: 200 [ 19] 5 1311 A HOE E[E:: DNS
E: 200 [ 19] 6 304 =ik 08 dtt-FEsh 6 2654 | +0.4
E:] 200 19 7 536 miE X dtEh 1 25.31 +0.4
E: 200 19 8 221 Al KR 7 2770 | +0.4
E: 200 [ 20] 2 69 BX -% DN aalC o) 1 2506 | +1.4
E] 200 [ 20] 3 290 ;8 HE Exal 5 2724 | +1.4
E: 200 [ 20] 4 184 aH RE EAF 3 2580 | +1.4
E: 200 [ 20] 5 22 HAT & ER—_th 4 2628 | +14
E] 200 [ 20] 6 309 FAH £ dtt-Fsh 6 2742 | +14
E: 200 [ 20] 7 479 HE R L ¥k 2 2558 | +1.4
E: 200 [ 20] 8 222 =@ BN KR 7 2756 | +1.4
E 200 21 1 1381 INFF HE T/i&h 3 26.35 | +0.2
E: 200 | 21 2 1382 | A/ K EEK T/ ke 7 28.73 | +0.2
E:l 200 | 21 3 73 Fih 1T B7RY—k DNS
B 200 | 21 4 111 Il =X T/N§&eh 5 2751 +0.2
E: 200 | 21 5 1404 S iE&dth 6 28.13 | +0.2
E: 200 | 21 6 60 MEE ER 5 iR R (RO 1 25.48 | +0.2
E:] 200 | 21 7 122 WiR & T/ h 2 26.16 | +0.2
E:l 200 | 21 8 113 s — &5 T/ &g 4 26.61 +0.2
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E: 200 | 22 1 1423 =2 B8 KREa 6 28.32 | +2.7
E: 200 |[22] 2 1399 BEE Ak 1E&de s 4 27.91 | +2.7
E:] 200 [ 22] 3 831 i Jth HES DNS
E:] 200 [ 22] 4 667 = = KREH 7 28.35 | +2.7
E: 200 | 22 5 1439 B firE JKREg 5 28.18 | +2.7
] 200 | 22] 6 21 kg 3 EIR=—rh 3 2719 | +2.7
E:l 200 | 22 7 173 12| MEsE E=RH 1 2656 | +2.7
EZ 200 | 22 8 183 =F BUHKR ERH 2 2703 | +2.7
E 200 | 23 1 186 A MEA =RH 2 2726 | -0.4
E: 200 | 23] 2 1383 BRE HE TRk 8 2077 | -0.4
E: 200 | 23] 3 588 ®ig RiK SI89F 6 2905 | -0.4
E: 200 [ 23] 4 61 BH XZ DN aalC o) 1 2711 | -0.4
E:] 200 | 23 5 534 AR BE Jdtth 3 2738 | -0.4
E: 200 [ 23] 6 300 AA X b E-Fh 5 2825 | 0.4
E: 200 | 23] 7 62 = B D NEaalC o) 4 2760 | -0.4
] 200 [ 23] 8 1398 & BEA 1EEde 7 2962 | -04
E: 200 |24 1 1384 P /& 5 2890 | +1.4
2 200 [ 24] 2 1651 FHh EF {t&sh 1 2653 | +1.4
E:] 200 | 24| 3 292 S1E BRE bt -Ff 2 2803 | +1.4
E: 200 [ 24] 4 1424 =g BEX KREH 8 2994 | +1.4
E: 200 [ 24] 5 1428 | {E< K mE KiREg s 6 2911 | +1.4
E:] 200 | 24] 6 1440 BRE KX JKRE 7 2945 | +1.4
E: 200 |[24] 7 63 = #th iR E R (FD 3 2840 | +1.4
E: 200 |[24] 8 219 ANE XE JKiR e 4 2844 | +1.4
E] 200 [ 25] 2 1422 B KF KRS 4 3086 | +1.6
E: 200 [ 25] 3 1421 AH HA KREH 6 3227 | +1.6
E: 200 [ 25] 4 584 INE FHHh I89F 2 2812 | +1.6
E: 200 [ 25 5 1391 =% £ =RH 1 27.61 +1.6
E: 200 [ 25] 6 1434 AK B KRE 5 3159 | +1.6
E: 200 [25] 7 1429 | &k RFHIE KREEH DNS
E:] 200 [ 25 8 310 TH Ht dtE-Fo 3 2906 | +1.6
E: 200 [ 26] 1 1395 ENT =RH 7 3002 | +2.9
E: 200 [26] 2 66 £k BEX 5 iR R (RO 2 2925 | +2.9
E:] 200 | 26| 3 64 ki FE 75 R R (R 1 2840 | +2.9
] 200 [26] 4 70 kiR EiE iR E R (ED 8 3009 | +2.9
E: 200 [ 26] 5 65 fEik BErE iR E R (ED 5 2955 | +2.9
E: 200 [ 26] 6 71 K BAYAUTA|  HRERGED 3 2034 | +2.9
E] 200 [ 26] 7 1432 Tk A KiREE 6 2981 | +2.9
5 200 | 26| 8 72 REE BBEk iR E R (R0 4 2934 | +2.9
] 200 [27] 2 1390 A¥ Fik =Rt 1 2945 | +05
E 200 27 3 1479 B £ KR 5 3206 | +05
E: 200 [ 27] 4 1392 FE EH =HH 2 29.80 | +0.5
E: 200 [ 27] 5 1478 kg T3l JKiRch 3 30.60 | +0.5
E] 200 [ 27] 6 1480 B BFE JK;R & 4 31.32 | +05
E:] 200 [27] 7 982 INEEIL R &t DNS
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" | B | M |[L—|ERES K4 [2id— 6| & | 25 | EE
] 400 1 1 256 T ES —BEEINCT DNS
] 400 1 2 344 BB % REES 2 49.20
E:] 400 1 3 249 FH E —BEEINCT 1 48.90
] 400 1 4 237 $HE SR TtEES 5 50.00
E: 400 1 5 370 EEE RS 4 49.34
] 400 1 6 366 HERE & Pk 3 49.30
] 400 1 7 383 EARRK BEk —BAIXEE 6 50.50
E: 400 1 8 417 Sl HA EFX DNS
E] 400 2 1 364 #A £ TS 3 50.81
] 400 2 2 343 EEEE EEES 1 49.76
E: 400 2 3 339 N REES 6 52.23
E: 400 2 4 408 Nk B 52FXK DNS
E:] 400 2 5 16 e FN- J\ I F E 1 2 50.53
E: 400 2 6 203 ElNEI- PN REHIIS 4 51.62
E: 400 2 7 405 R EX REEENS 5 51.94
E:] 400 2 8 340 JIF X e R = DNS
E: 400 3 1 338 INE #E R[] B = 1 49.69
E:] 400 3 2 133 KE KR KR—= DNS
E:] 400 3 3 744 SHES BEFEIXF 2 50.13
E: 400 3 4 210 I uE AR AL YR 3 51.53
E: 400 3 5 236 INGEEZES TEEES 6 53.24
E:] 400 3 6 469 =E RETS 4 52.33
E: 400 3 7 145 [REH ExAH KR—& 5 53.19
E: 400 3 8 455 R BEX EETLS 7 53.33
E] 400 4 1 333 EE & —BEE—5 4 53.87
E: 400 4 2 511 5H ZEB AL YR 3 53.72
E: 400 4 3 509 158 BN REHiIS 5 54.45
E:] 400 4 4 463 28 1T &7 G BT BER DNS
E:] 400 4 5 439 i 1&{Z TS DNS
E: 400 4 6 513 MET EK REHIiIS 1 52.69
E:] 400 4 7 235 INER ) 1EEERS 2 52.94
] 400 4 8 239 AR EAER TtEES DNS
E: 400 5 1 195 B EX REE—S 5 54.09
E:] 400 5 2 244 P9 #RRk TtEES 6 55.25
] 400 5 3 283 FE EN AES 3 53.74
E: 400 5 4 11 Mt B J\ = BE 173 2 53.48
E: 400 5 5 376 EiE EBE P 1 52.90
] 400 5 6 9 A =X REid 7 56.73
E: 400 5 7 336 FaIER BEAE REES DNS
E: 400 5 8 412 SEHE REsL RE=5 4 53.77
] 400 6 1 246 B g TtEES 6 56.31
E: 400 6 2 458 ERR R REILS 5 55.99
E:] 400 6 3 755 2EE S EEmIiIS 8 56.97
E] 400 6 4 412 HAR B REMENS 4 54.68
E: 400 6 5 507 falER #ath ALY 3 53.72
E:] 400 6 6 512 fhtx EiE EEmIiIS 7 56.40
E] 400 6 7 16 =8 ik TES 2 53.47
E: 400 6 8 362 NI BERE B[ R = 1 53.12
5 400 7 1 193 E RPN R—LIT/TC DNS
E] 400 7 2 408 FE BX REMENS 1 52.74
E: 400 7 3 130 W& K KiR—& 4 54.89
] 400 7 4 96 ORI E REFRS 6 56.93
E:] 400 7 5 782 KW ZXKER EEs 3 54.64
E:l 400 7 6 622 =Lt 3l =2FXK 2 53.02
E: 400 7 7 1040 £ M Kt 7 57.47
E:] 400 7 8 361 —/B8 X Pk 5 56.01
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E: 400 8 1 212 iz K AL YA ) 8 1.01.13
E: 400 8 2 135 FHih KF KR—& 2 54.78
E:l 400 8 3 132 ¥E hH KiR—= 1 54.71
E:] 400 8 4 832 = #iT 45%%.—1 5 56.55
E] 400 8 5 893 =R 318 REE 7 57.49
] 400 8 6 504 B BE E&I‘JE%—J 3 55.46
E:] 400 8 7 420 R i E‘E%E EIRmEE 6 57.07
E: 400 8 8 751 J:J? —5 EI‘JFE_L.—J 4 55.70
E:] 400 9 1 134 Ea—1E KiR—& 2 57.00
E: 400 9 2 754 =R R AL YA ) 3 58.21
E: 400 9 3 510 ki KH AL YR 4 59.15
E:] 400 9 4 206 ER ERk B[ T o DNS
E:] 400 9 5 211 o s RIS DNS
E: 400 9 6 209 EINEEFRS ALY ) 1 55.54
E: 400 9 7 290 1.8 38 el 5 1.00.10
E:] 400 9 8 777 WHE R R XMS 6 1.00.67
E: 400 10 1 481 FTE BH L¥h 1 55.14
E: 400 [ 10] 2 68 T N D NEaalC o) 7 58.78
E:] 400 10 3 976 =& BA —FEE—5 8 1.01.04
E:l 400 10| 4 105 A i B F t&Ets 2 56.16
E: 400 [ 10] 5 11 EE HHE TES 3 56.36
E] 400 | 10] 6 209 INFFERK JKiRch 5 56.72
E: 400 [ 10] 7 107 =% &b T/ ke 6 57.81
E: 400 [ 10| 8 811 F & R B Nz-F| A=) 4 56.71
E 400 11 1 311 £ $£F JtE-Fd 5 59.33
E: 400 | 11 2 1599 FE & R 2 55.57
E: 400 | 11 3 925 £k thor KREES 3 56.18
E:] 400 | 11 4 527 NE B RHEES 4 59.10
] 400 | 11 5 185 =N BH ERG DNS
E: 400 11 6 423 I Rt BRE=5 1 54.97
E:] 400 | 11 7 803 =l —=2 BX5 DNS
E:l 400 11 8 1041 B KE &Krmhikr 6 1.00.30
E: 400 [ 12 ] 1 642 INR EEth JKiREE 5 58.40
E:] 400 12 2 210 B X KR 4 58.38
] 400 [ 12| 3 332 ik 12— —BEE—5 6 59.38
E: 400 | 12| 4 301 mnEs 28 L E-FEf 1 56.66
E: 400 [ 12] 5 425 TH @z EE=5 2 56.81
E 400 12 6 294 #$HE HA dtE-Fo 3 58.37
E: 400 12 7 498 =F &3 L5 7 59.41
E: 400 | 12| 8 984 1 AR {t&s 8 1.02.03
E] 400 | 13 1 753 £H xH AL YA ) 6 1.00.88
E: 400 | 13| 2 205 fERK BE REHILS 5 1.00.75
E: 400 | 13| 3 207 fEE B EEmIiIS 4 1.00.31
E 400 13 4 119 B X5 /&R 3 59.45
E: 400 | 13] 5 528 [SENP.N EHEES 2 59.23
E: 400 | 13] 6 526 it BEth REEES 1 57.95
E] 400 | 13] 7 202 FiE &t RIS 7 1.02.33
E: 400 13 8 752 KE #HA BEHIS 8 1.04.37
E:] 400 [ 14] 1 52 INE 1E&dedh 8 1.03.20
E 400 14 2 252 BIEH &5 BX5 7 1.02.78
E: 400 | 14] 3 69 BAR ZF iR E R (ED 3 58.27
E: 400 | 14| 4 173 falR HMEsl EAHF 4 58.88
E:] 400 | 14] 5 19 Fih 51 ER—_ 2 57.63
E:l 400 14] 6 829 2R H4E ETBS 6 1.01.27
] 400 |14 7 1595 ZH HIX LHA$ 1 56.05
E:] 400 | 14] 8 113 Wy —E T/hE&dh 5 | 1.00.86
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E:] 400 15 1 582 Rl E= I89Fh 7 1.03.54
E: 400 |15 2 73 Fih IE1T BFTRY—k 8 1.04.96
E: 400 15 3 222 = &N KR 6 1.02.90
E:] 400 | 15| 4 660 XA EE KREH 3 1.00.50
E: 400 15 5 659 &JI| EB JKREg 1 59.15
E:] 400 | 15] 6 657 J\ERB %h8A KREH 4 1.01.37
E:] 400 | 15] 7 122 Wik & T/NE&h 2 | 1.00.07
] 400 | 15] 8 737 ZF BEX ZAH 5 | 1.01.90
E 400 16 1 590 NERB it IHF 2 1.02.10
E: 400 | 16] 2 72 FEE AREk iR E R (FD 7 1.08.29
E: 400 | 16| 3 656 hiE Bz JKiREE 4 1.05.89
E: 400 | 16| 4 1328 FB E tE-FEh 3 1.03.62
E:] 400 | 16] 5 1326 ik KM tE-FEh 8 1.11.19
E: 400 | 16] 6 800 3K BR BX5 1 1.00.74
E: 400 |16 ] 7 70 ki B D NEaalC o) 5 1.06.03
E:] 400 | 16| 8 71 K BAYAUTAl  HRESRGEY 6 1.06.78
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E:] 800 1 1 427 HE & 5FX DNS
] 800 1 2 370 EEEIE REES DNS
5 800 1 3 340 JIF X R RS 5 1.58.84
E:] 800 1 4 481 He [FH e iR 2 1.55.30
E: 800 1 5 158 EiZ BXHR EFXB) 1 1.52.72 GR
] 800 1 6 759 fErXK 8 REE—5 3 | 15546
E:l 800 1 7 475 i A= REIS 4 1.56.78
E: 800 1 8 411 IR XK EFX 6 2.06.96
] 800 2 1 15 e @ $ER_—h 5 | 2.06.43
E: 800 2 2 371 FIE X R R = 1 1.59.96
] 800 2 3 497 =R B 1EEEE 7 | 2.08.05
E: 800 2 4 183 TR SHS 3 | 20488
E:] 800 2 5 1117 Kig & JRAS 2 | 20249
E: 800 2 6 513 YES PN REHIIS 4 2.06.40
E:] 800 2 7 134 e —1E KR—= 6 | 2.07.95
E:] 800 2 8 185 = EFK =RH 8 | 2.08.55
E: 800 3 2 1039 SM{E K& ENIIE A 3 | 2.09.76
E: 800 3 3 214 AR RAER XS DNS
E:] 800 3 4 504 R BE RHEES 2 | 205.76
E: 800 3 5 139 (£H Kih KiR—& 4 | 21187
E: 800 3 6 244 NS TEEES 1 2.04.78
E:] 800 3 7 77 EH RE REfE] 1 5 2.13.54
E: 800 3 8 406 FH BE M ENES DNS
E: 800 4 1 179 BiE & SHS 2 | 2.10.61
E:] 800 4 2 107 =18 ah T/hE&eh 4 2.12.69
E: 800 4 3 372 ah UEsk R R = DNS
E: 800 4 4 114 JE A EP Bk t&Ets 1 2.06.47
E: 800 4 5 756 BRE K— R T i o DNS
E: 800 4 6 208 H XZ RS 6 2.19.86
E: 800 4 7 1236 IBHE X it 3 2.11.39
E:] 800 4 8 860 28 2 EE=5 5 | 21273
] 800 5 2 976 =¥ BA —BEE—5 7 | 2.20.80
E: 800 5 3 303 AN B b E-FEf 1 2.13.67
E: 800 5 4 44 REER MRk E&dtsh 4 | 21878
E:] 800 5 5 1232 R=E 8 it ep 3 217.72
E: 800 5 6 16 HiR —&F FER=h 2 2.16.74
5 800 5 7 648 ERKR &R KREH 5 2.19.19
E:] 800 5 8 289 IRA $EK dtt-Fh 6 2.19.62
E: 800 6 1 734 etEREN R BERE 6 | 2.20.90
E: 800 6 2 1076 ARH = +H% 7 | 2.21.87
E:] 800 6 3 586 =E BE I89Fh 2 2.13.64
E: 800 6 4 484 BRIE ER L¥h 3 2.14.42
5 800 6 5 236 FE FEX TAKAHIRO RC DNS
E:] 800 6 6 296 BB [5 JtE-FEd 1 2.12.34
E: 800 6 7 775 R B EHEES 5 | 22057
E: 800 6 8 294 FTH HEA dtt-FEsh 4 | 21493
E:] 800 7 1 477 £k | LErh 5 2.34.58
E: 800 7 2 1001 NiE 5& XM DNS
E: 800 7 3 740 EZ 8d e DNS
E:] 800 7 4 43 Tk K& E&dtbsh 6 2.49.86
E: 800 7 5 2170 | tERK &K KiR® 2 | 22189
E:] 800 7 6 774 Eik B RHEES 1 2.18.74
E: 800 7 7 482 #TH E ¥ 3 | 22719
E: 800 7 8 811 FTE Hig BILR B X 1% 4 | 2.31.91
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E:] 800 8 2 298 Fik BF dtt-FEh 4 2.33.04
E: 800 8 3 1687 falEp EH Jt ko 6 | 2.41.72
] 800 8 4 435 TR EA TS 3 | 22938
E:] 800 8 5 306 | &£ K ZKER b E-FEh 1 2.26.17
E: 800 8 6 299 INEF EAN bt E-Fd 2 2.26.80
5 800 8 7 741 fa SR IE = dtEh 7 24397
E:] 800 8 8 1437 FE fiX JKiREE e 5 | 2.33.07
E: 800 9 2 766 Fith EBX KREXES 1 2.21.66
E:] 800 9 3 1421 FH HEA KiRE 5 | 2.44.60
E: 800 9 4 918 B &5 Eal 4 | 23274
E: 800 9 5 980 B &KX & 3 | 2.31.01
E: 800 9 6 120 8 ERE T/ ko 2 | 2.28.80
E:] 800 9 7 1438 RE KREH 6 3.12.46
E: 800 9 8 1435 g2R XH KREg s 7 | 3.18.24
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E: 1500 | 1 1 759 EaRK 8B REE—5 1 3.54.68 GR
E: 1500 | 1 2 241 W HE TtERS 2 | 40157
E:] 1500 | 1 3 3918 AL N LR BER (L) DNS
E:] 1500 1 4 95 =H &3 PR S 10 | 4.10.05
E: 1500 | 1 5 7241 A+iE REEALFNEEHBEO|[ 6 | 4.08.08
E] 1500 1 6 251 INR i —RBEEINCT 5 4.06.09
E:] 1500 1 7 45 A S EFEHEK 3 | 4.03.60
E: 1500 | 1 8 6713 —/ZF H | FESEBERHEO]| 15 | 4.13.64
E:] 1500 | 1 9 940 €% 1Eth =SHS 13 | 4.10.87
E: 1500 1 10 204 EARKR AR AL YA ) 4 | 40435
E: 1500 | 1 11 481 He [FI R R AT 8 | 4.09.17
E: 1500 | 1 12 214 AR RAER XS 11 | 41045
E:] 1500 | 1 13 160 FEE K b EBER 16 | 4.15.29
E: 1500 | 1 14 48 DEES EFBHEEK 14 | 41270
E: 1500 | 1 15 114 ¥2 N BB Bk &S 12 | 41062
E:] 1500 1 16 185 F sk KREXS 7 4.08.40
E: 1500 1 17 451 a8 K— BT S 19 | 4.24.12
E: 1500 | 1 18 10 /R BEE REIH 18 | 4.17.17
E 1500 1 19 427 S Hf—ER EE=5 21 | 4.26.39
E:l 1500 1 20 452 HFE KEE RETS 9 409.22
E: 1500 | 1 21 446 =l RETS 17 | 4.15.75
E:] 1500 | 1 22 441 INE R 185 BETIS 20 | 4.24.65
E: 1500 | 2 1 978 FH o M A tELS 18 | 4.31.32
E: 1500 [ 2 2 497 2R = TtEmeE 12 | 4.23.93
E 1500 [ 2 3 541 Hik 5 AES 1 4.16.11
] 1500 | 2 4 422 Tk X BE=5 6 4.20.85
E: 1500 | 2 5 288 BT8R ZRAE EXal 15 | 4.30.25
E:l 1500 | 2 6 223 KEF K5 XM DNS
E: 1500 | 2 7 407 BH e M ENS 13 | 4.24.70
] 1500 | 2 8 443 INAE JE EREIs 19 | 4.33.84
E:] 1500 | 2 9 201 JIF & EEhIS 9 | 42298
E:l 1500 | 2 10 756 Z2R X— RETHILS 5 4.19.50
E: 1500 [ 2 11 55 HBE 15 | SIIHST0H)| 21 [ 4.36.06
E] 1500 2 12 812 = H B # t&its 22 | 44067
E:] 1500 | 2 13 473 BEE AR EEILS 20 | 4.3557
E: 1500 [ 2 | 14 454 Sl & REILS 7 | 42127
E: 1500 [ 2 | 15 462 k% ht EEIS 8 | 4.22.06
E:] 1500 | 2 16 466 =H K& RE TS 17 | 4.30.48
E: 1500 | 2 | 17 197 Eik iR REHIIS 11 | 4.23.86
E: 1500 [ 2 | 18 861 T thA EE=5 10 | 4.23.65
E:] 1500 | 2 19 296 BB [5 JtE-FEd 14 | 42871
E: 1500 | 2 | 20 351 HEE EE R[] B = 2 | 41798
E: 1500 | 2 | 21 350 =48 %t I 4 | 4.19.31
E] 1500 [ 2 | 22 477 XA & EEILS 16 | 4.30.33
E 1500 2 23 881 IE 2 REIS 3 4.18.60
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E: 1500 | 3 1 303 REERN B b E-FEh 7 | 43167
E: 1500 | 3 2 218 HHE S:X R XMS 17 | 4.42.26
E:l 1500 | 3 3 371 EERECES EEES 1 4.20.05
E:] 1500 | 3 4 336 FAIER BE4E RE[E R = 9 | 43221
E: 1500 [ 3 5 822 INER HE EEES 11 | 4.35.60
] 1500 | 3 6 107 = 8k T/NE&h 15 | 4.38.75
E:] 1500 | 3 7 981 J\ER R tEts 22 | 5.01.65
] 1500 | 3 8 44 A Mk E&de 18 | 4.46.30
E: 1500 | 3 9 750 ok &3l AT S 13 | 4.36.46
E:l 1500 | 3 10 758 SIEE & BEHIS 6 4.31.30
E: 1500 | 3 11 16 HiR —&F FER=h 5 4.30.62
E: 1500 [ 3 | 12 858 INETR K RE=5 16 | 4.41.68
E:] 1500 | 3 13 226 =2l [FE RPN 10 | 4.32.51
E: 1500 [ 3 | 14 1000 | £F EXER RERE KM S DNS
E:] 1500 | 3 | 15 225 T EP.N EE KIS 20 | 45524
E:] 1500 | 3 16 281 2% fIX & rh BT BE 8 | 431.76
E: 1500 | 3 | 17 544 kg FiE FES 3 | 42921
E: 1500 [ 3 | 18 372 a5A Ak P 4 | 4.30.40
E 1500 | 3 19 138 F EN Jt i RER 12 | 4.36.25
E: 1500 [ 3 | 20 398 = A it _E difE 2 | 42788
E: 1500 | 3 | 21 215 |/MNEFRT % PAriPN DNS
E] 1500 [ 3 | 22 773 IR EXR RHEES 14 | 4.36.58
E:l 1500 [ 3 | 23 2169 HI RE KiR® 19 | 45210
E:] 1500 [ 3 | 24 766 %,ﬂz @ﬁ KREXS 21 | 5.01.51
E: 1500 | 4 1 979 EE R HEE Nz F| A=) 6 | 44282
E:l 1500 | 4 2 480 J\ 1% WH EETLS 15 | 4.48.78
E:l 1500 | 4 3 456 =ik S RE TS 19 | 45028
E:l 1500 | 4 4 1365 FHgsE EERH 11 | 4.46.82
E: 1500 | 4 5 734 AetEREN e BEE 24 | 456.75
E] 1500 | 4 6 859 INEF [EKER RE=5 13 | 4.48.07
] 1500 | 4 7 483 R 2t L8t 2 | 43325
E: 1500 | 4 8 818 AR BEER REES 3 | 4.35.74
E 1500 4 9 139 H Kih KR—& 1 4.32.64
E: 1500 [ 4 | 10 541 ik =E KEEERE 10 | 4.46.36
E:] 1500 [ 4 | 11 1296 Il B E=Fd% 12 | 4.47.09
E:l 1500 | 4 | 12 864 HiE EEILS 21 | 451.28
E: 1500 [ 4 | 13 440 =& 1Z TS 18 | 4.50.20
E:] 1500 | 4 | 14 289 IRA SEA b t-Fsh 9 | 4.45.76
E 1500 | 4 15 216 Bk BE R XMS 20 | 450.37
E:] 1500 | 4 | 16 1001 SRS REE KM S DNS
] 1500 | 4 | 17 500 NEFFE BIF —B— .—,BﬁEP 4 | 4.36.84
E 1500 | 4 18 484 RE BN LErh 5 44041
E:] 1500 [ 4 | 19 695 JIE &= TTEEXS 7 | 44448
E: 1500 | 4 | 20 117 HEiF EX /&R 8 | 44478
E] 1500 [ 4 | 21 847 B —i% TS 14 | 4.48.21
E:] 1500 | 4 | 22 1328 Y EE Jt E-Fsh 22 | 451.79
E: 1500 | 4 | 23 730 FA R ﬂljc KES 17 | 4.49.79
E 1500 [ 4 | 24 245 2t 2 TtEES 16 | 4.49.46
] 1500 | 4 | 25 482 #$HE *E L5 23 | 454.65




" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E:] 1500 | 5 1 586 el BE I89Fh 1 44243
E: 1500 | 5 2 298 Bk EEF bt E-Fo 10 | 5.03.58
] 1500 | 5 3 80 W BEE E ALt 7 | 5.02.00
E:l 1500 | 5 4 1736 LA H.Jtﬂrs =EHEAB 8 5.02.55
E: 1500 | 5 5 299 INEFIEN JtE-Fh 3 451.11
] 1500 | 5 6 772 mA B EEEES 5 | 5.00.68
E:] 1500 | 5 7 306 | &£ K ZKER dtt-FEh 9 5.03.54
E: 1500 | 5 8 471 BRE RBA B TS 17 | 5.13.10
E] 1500 | 5 9 975 2k A3} —BEE—5 12 | 5.06.60
E: 1500 | 5 10 771 —B XE EHEES 4 | 456.70
E: 1500 [ 5 | 11 174 olllin EiE E=HH DNS
E: 1500 | 5 | 12 1732 hEE g =Rt DNS
E 1500 5 13 169 =iE DEA FERH DNS
E: 1500 | 5 14 1425 HE ER& KREs 14 | 5.08.87
£ 1500 5 15 1437 FE X KREH 16 | 5.13.05
E:] 1500 | 5 16 506 FiE A — B — S kg 6 5.00.98
E: 1500 | 5 | 17 742 %% R 3E ) Nan DNS
5 1500 5 18 585 B & IHF 2 4.51.09
E:] 1500 [ 5 | 19 114 R BE /&R 19 | 5.28.18
E: 1500 [ 5 | 20 1739 =T RErsg 20 | 5.32.62
E: 1500 | 5 | 21 850 RO % TS 11 | 5.03.92
E:] 1500 | 5 | 22 862 KA E# RE=5 15 | 5.10.76
E: 1500 [ 5 | 23 142 AE 5 EEAF 18 | 5.19.05
E 1500 | 5 | 24 1394 A 2T ERH 13 | 5.08.77
E 1500 6 1 1300 FHE_ &b =RF 2 456.51
E: 1500 | 6 2 1298 | =¥ DAER =RT 3 | 459.19
] 1500 6 3 1297 X w3 ERH 4 5.09.75
E: 1500 6 4 587 ZHE £ IHF 9 5.18.93
E: 1500 | 6 5 1403 HITIP.NG 1E&dedh 17 | 5.32.60
] 1500 | 6 6 696 ik S5 TEEEXS 8 | 5.17.34
E 1500 6 7 325 INFF B eAR b 6 5.15.60
E:l 1500 6 8 873 ER BX RE TS 21 | 6.33.55
] 1500 | 6 9 733 Bz R EEE 13 | 5.28.69
E:] 1500 | 6 10 1645 FiE BT — B — Sk 18 | 5.37.89
E:] 1500 | 6 11 1648 SATEF AR — B — Sk 10 | 5.19.23
E: 1500 | 6 12 1597 B EA L Hf 14 | 5.29.89
E: 1500 | 6 13 1435 2R X KREH 22 | 6.41.04
E] 1500 | 6 14 1323 R EX = Fh 12 | 527.47
E: 1500 | 6 15 918 Bk &5 el 7 | 5.16.66
E: 1500 | 6 16 120 8 ERE T/ ko 5 | 51359
E 1500 6 17 36 WA &3 e adan 11 | 5.20.69
E: 1500 | 6 18 1476 INFFEK KR eh 16 | 5.30.19
E:l 1500 | 6 19 849 ZHKRK KF TS DNS
E] 1500 [ 6 | 20 436 T &St TS 15 | 5.30.07
E: 1500 | 6 | 21 67 il SEK iR E R (FD 19 | 553.36
E: 1500 | 6 | 22 1367 ERXK}NA EEA/T 20 | 6.13.08
E] 1500 [ 6 | 23 1331 ®E XE IR — g DNS
E: 1500 6 24 542 AH #F FES 1 450.56

22




% #H HIL— |1 2BES K —
B [ 3000 [ 1] 1 324 Ba g,,:\ EFEE hr) R | T | WE
B[ 3000 1] 2 156 | =18 féjtﬁrs 12l = 3 | 9.40.90
% [ so00 | 11 5 | w6 | 7% & P o 1| 9.37.45
5% | 3000 | 1 4 1117 *iE 15‘ TE'E]“ 10 | 10.10.79
% [ o000 | 1| 5 | 766 | fes B L DNS
B | 3000 | 1| 6 55 e P | 6 [ 9.53.0
| 3000 |1} 7 30 o B SR LTSI () DNS
2 [ 3000 [ 1] 8 79 = Ba g’.ﬂ”?ﬂ 2 | 9.38.00
B | 3000 | 1] 9 T == ATk 4 | 94703
2 | 3000 | 1| 10 | 503 ENTRE R 5 | 95257
% 3000 1 11 25 = #REE E%]:?.E,Bﬁl:l: 7 9.5553
B [ s000 | 1| 12 | 483 | Bl feth B 12 | 10.13.43
B | 3000 | 1 | 13 26 S s LI 17 | 10.28.74
5 | 3000 | 1| 14| 20 | ith AR L 14 [ 1021.74
B | 3000 [ 1] 15 23 £N _FE P i 15 | 10.23.41
2 [ ao00 [ 1 [ 16 | 14 | @ ze HR— 9 |10.0355
B | 3000 | 1| 17 13 IEREE: BR— 18 | 10.39.85
5 | 9000 1 1 118 1 12 IR = AR DNS
B | 3000 | 1 | 19 =3 S SRR 11 | 10.12.25
B | 3000 | 1 | 20 =01 = Wﬁ B im-,Rﬁz_ﬂ(m 8 | 10.00.18
E:] 3000 | 1 21 75 T B :Ei@—ﬁﬁﬁqﬂ 16 | 10.24.86
B | 3000 | 2 | 1 53 i ,ﬁ,gﬁﬁql(%k) 13 | 10.17.97
B [ 3000 [ 2] 2 | 165 T = —ar 5 | 95072
B [ 3000 | 2 | 3 m = o TAT 9 | 10.31.66
B [ a000 | 2| 4 | 78 | &M - 8= DNS
5 [ 3000 [ 2] 5 179 IR T 4 | 95399
B | 3000 | 2| 6 | 166 | TX ZA THT 11 | 10.3365
5 [ 2000 [ 2] 7 | 170 | &f B: ThAT 3 | 94367
2 [ 000 [ 2] 8 | 177 | X %% o 2 | 93798
5 | 3000 | 2 | o | 173 RS TET 1| 9.21.12
2 [ 3000 | 2 [ 10 [ 1730 T EHH 7 [ 10.19.54
B | 3000 | 2 | 11 | 1733 = 5 FES 10 | 10.32.67
B [ 3000 | 2 | 12 | 117 B EX ThHH 12 | 10.42.58
5 [ 3000 | 2 | 13 | 35 | EIl @ TIhist 8 | 10.26.83
5 | 3000 | 2 | 14 | 1744 FALL ﬁ-;:fa :;&;EEEP 13 | 10.47.75
B [ 3000 | 2 | 15 | 1742 BE == ;;-EQR:EP 18 | 11.23.88
B [ 3000 | 2 | 16 | 1743 | Wkl %@; ER— 16 | 11.19.88
S [ 3000 | 2 | 17 | 735 | Jii @A 'E?E’&_qp DNS
3 [ 3000 | 2 | 18 | 734 | RJI & ZA 0 6 [ 101397
B | 3000 | 2 | 19 =5 T :E:@—zw 14 | 10.56.50
B | 3000 | 2 | 20 = e FRERE) | 19 | 11.28.92
B | 3000 | 2 | 21 203 T SREER) | 15 | 110573
B | 3000 | 2 | o2 | 1425 | tiE BB B—mEMiF | 21 [ 11.53.95
B | 3000 | 2 | 23 =5 e _IKiRE 20 | 11.49.59
B | 3000 | 2 | 24 | 79 s B%’fﬁ BRATED [ 17 [ 112322
2 | s000 | 2 | 25 | 1476 | MBEEA BREBGE) | 22 [12.06.71
i A KR 23 | 12.09.25
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E: 5000 1 1 812 = H B # tEts 5 | 17.05.10
] 5000 | 1 2 112 | E 15 mAH EEtS 9 | 17.15.45
E:] 5000 | 1 3 857 fIER BB RE=5 2 | 16.41.94
E:] 5000 1 4 368 hf BE REES 27 | 18.08.09
] 5000 | 1 5 351 e P B el EEES 1 | 16.33.46
E:] 5000 1 6 547 =E 2 EFEHEEK 10 | 17.19.90
] 5000 | 1 7 546 N EFEHEK 15 | 17.31.93
E: 5000 | 1 8 350 =8 %t REES 4 | 17.01.71
E: 5000 | 1 9 81 K== TE&AC 29 | 18.19.96
E:l 5000 1 10 398 =8 #A bt E i RER 7 | 17.11.38
E: 5000 | 1 11 138 i =N dv _E T BER 3 | 16.49.50
E: 5000 | 1 12 606 &0 FER FEAE FER 16 | 17.32.17
] 5000 | 1 13 240 KiZE M EL X 34 | 19.33.13
E: 5000 | 1 14 746 A ENX P RS 26 | 18.03.87
E:] 5000 | 1 15 748 i BX REp RS 31 | 19.05.60
E:] 5000 1 16 54 BEiE Ft EFEHEEK 19 | 17.47.47
E: 5000 | 1 17 62 21l EFBHEEK 20 | 17.48.14
E: 5000 | 1 18 724 =2 B a2FBEEK DNS
E:] 5000 1 19 27 RIFEE wEY5D 11 | 17.22.83
E:l 5000 1 20 721 FHTH K# EFBHEEK 18 | 17.42.90
E: 5000 | 1 21 722 INFFE B =2FBHEEK 32 | 19.18.23
E] 5000 1 22 260 HE R EFEGR 13 | 17.26.50
E: 5000 1 23 226 aH [FE R KM S 21 | 17.49.48
E: 5000 | 1 24 286 KR BE— LR AR RE R 14 | 17.29.55
E] 5000 1 25 854 =E i SIREREREO | 6 | 17.08.01
E: 5000 1 26 895 HA 28X REE—S 24 | 18.01.48
E: 5000 | 1 27 802 XHF =F =FEER 8 | 17.14.17
5 5000 1 28 153 ErRKR EFiZ Jt EhBEL 17 | 17.38.16
E: 5000 1 29 208 Hp KE RS DNS
E: 5000 | 1 30 758 SIEE & REHIiIS 12 | 17.25.59
E:] 5000 1 31 225 =X REE KM= 32 | 19.20.42
E: 5000 1 32 218 HE SX XM 23 | 17.56.95
E: 5000 | 1 33 216 Bk BE XM S DNS
E:] 5000 | 1 34 215 [/NEFET HE EEKMS 22 | 17.56.78
E:] 5000 1 35 727 aH HE EFEHEEK DNS
E: 5000 | 1 36 979 ERAMEE t&Ets 29 | 18.37.42
E] 5000 | 1 37 543 INFF RE TES 27 | 18.10.90
E] 5000 1 38 55 ki & EFEHEEK 34 | 20.35.15
E:] 5000 1 39 63 BRE B EFBHEEK DNS
E: 5000 | 1 40 723 gk K EFEHEEK 35 | 22.32.28
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% | BB |4 (L—|BREE K4 [2id— 6| & | 25 | EE
E: 5000 | 2 1 241 Wil B TtEES DNS
E: 5000 | 2 2 159 TH = Jb_E hiRELRR 1 | 15.11.52
E: 5000 | 2 3 3918 AL N LR BER (L) DNS
E:] 5000 | 2 4 80 HiE & TE&AC 3 | 15.41.28
E: 5000 | 2 5 221 PN XM S 10 | 16.03.75
] 5000 | 2 6 168 BT &R B ok TEAMZ TI)LA 7 | 1555.23
] 5000 | 2 7 48 BEES a2FBEEK 8 | 15.55.36
E: 5000 | 2 8 45 L =2FBHEEK 2 | 15.28.14
5 5000 | 2 9 82 F)I AKX 1EEAC 6 | 15.49.59
E:] 5000 | 2 10 285 =231 LR ARRER DNS
E: 5000 | 2 11 6713 —/F BB | HESEREHBERO|] 5 [ 154555
E: 5000 | 2 12 33 HE BRA BFIRIT DNS
E:] 5000 | 2 13 7241 E+E KEEJLRABEZFD | 4 | 15.42.81
E: 5000 | 2 14 199 =i IR EEHIIS 11 | 16.10.95
E: 5000 | 2 15 204 ER KR AR RS 14 | 16.27.90
E:] 5000 | 2 16 139 ki ik Jt EhkER DNS
E: 5000 | 2 17 6087 B% B¥ [ XEBRFFEEHEO| 16 | 16.30.62
E: 5000 | 2 18 84 FE =% TEEAC 13 | 16.15.35
E:] 5000 | 2 19 59 EARK K | BEREBESERD]| 12 | 16.13.22
E:l 5000 [ 2 | 20 427 S HfE—E] RE=5 26 | 17.07.41
E: 5000 | 2 | 21 162 Fith= Jb_E hiRELR 15 | 16.30.09
E:] 5000 | 2 | 22 716 SFH B K 32 | 17.48.43
E: 5000 | 2 | 23 892 E= A EEE—S 9 | 16.00.81
E: 5000 | 2 | 24 61 EtE R— EFBEEK 21 | 16.47.32
E: 5000 [ 2 | 25 46 B2 R EFEHEEK DNS
E: 5000 | 2 | 26 111 CES 55 t&Ets 18 | 16.33.72
] 5000 | 2 [ 27 98 = X REP RS 31 | 17.29.92
E:] 5000 | 2 | 28 749 WA EF REPRS 24 | 16.53.47
E: 5000 | 2 [ 29 85 = G TE&AC 28 | 17.09.29
] 5000 | 2 [ 30 95 hily &% TEEAC 22 | 16.48.35
E:] 5000 [ 2 | 31 10 5 E= TES 17 | 16.33.33
] 5000 | 2 [ 32 99 ® xiE TE&AC DNS
E: 5000 | 2 | 33 4724 N =R FEIAAEBFERE] 20 | 16.44.95
E:] 5000 | 2 | 34 197 £k iR AL YA ) 29 | 17.12.76
E:] 5000 | 2 [ 35 208 1R RER F2EBER 25 | 16.59.34
E: 5000 | 2 | 36 978 F ith M AT t&Ets 23 | 16.48.99
E: 5000 | 2 [ 37 132 Fai F— 2% rh BT B 173 19 | 16.38.78
L) 5000 2 38 99 it EFBEEK DNS
E: 5000 | 2 | 39 56 L8 HF EFBHEEK 27 | 17.07.86
E: 5000 | 2 | 40 41 —B2 FHt EFEHEEK 30 | 17.25.45
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
B |3000SC| 1 1 57 INGFF TR SALGBT&F 10 | 10.54.43
& |3000SC| 1 2 854 =E fin FRERSEEREO [ 6 | 10.22.09
B | 3000SC| 1 3 940 €% IEth =SHS 4 | 10.13.64
B |3000SC| 1 4 111 f A 5% tEts 1 9.55.89
& |3000SC| 1 5 541 g 5 A#ES 2 | 10.05.83
B | 3000SC| 1 6 84 T =% TEEAC 3 | 10.06.28
& |3000SC| 1 7 570 XA T|E 12 S 14 | 11.05.89
& |3000SC| 1 8 891 IN:EE AR ) 11 | 10.59.21
5 [3000SC]| 1 9 975 RE K3} —BEE—5 19 | 12.55.91
& |3000SC| 1 10 288 falER  SR1E Eal 12 | 11.02.75
B |3000SC| 1 11 201 JF & REHIIS 9 | 1052.79
B |3000SC| 1 12 407 BH Lz REEENS 7 | 10.41.39
& |3000SC| 1 13 112 | & 15 mAH tEts 8 | 10.49.54
& | 3000SC| 1 14 368 hf BE REES 5 | 10.14.24
& [ 3000SC]| 1 15 663 =t kE EEdLs 13 | 11.03.81
& |3000SC| 1 16 291 s R EBRERR DNS
& | 3000SC| 1 17 818 EAR BE R[] B = 17 | 11.12.25
& | 3000SC| 1 18 822 INER HE P 15 | 11.06.88
B |3000SC| 1 19 437 Bk BiE TS DNS
& |3000SC| 1 20 801 o O 5 EFER DNS
& |3000SC| 1 21 750 ok B3l EETIS 16 | 11.12.24
B [3000SC]| 1 22 797 m=EES KiR—& 18 | 11.48.21
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% | BB |4 (L—|BREE K4 [2id— IBfz| &0k
B | 4x100 | 1 2 109 EREAX _ # EElts i 7
B [ axio0 [ 1 | 2 106 | X k & TEie = iees
B [ 4100 | 1 | 2 110 | % % % B  th 2 1105
B [ axio0 [ 1 | 2 13| & & 3 & TEie = ixes
&8 [ 4x100 [ 1 2 105 A 8 % 7 i : o :
B [ axio0 [ 1 | 2 8l | & & = & Ezio S ixes
B [ axio0 [ 1 [ 3 209 B Sk ot TR :
—= 44100 ISP RIS A 6 44.70
1 3 210 A S ;
E] 4x100 1 3 508 HEEF e %ﬂEE%EA : TR z
3 | 4xi00 | 1 | 3 511 1=} %‘IE&‘E"A e 247 i
B [ axi00 | 1 | 4 193 JIEH FE—Ep E&m‘ P : FEAT] 1
—® | 4x100 | 1 | 4 194 5E AR @E%’_‘E" 1 7T ;
B | 4%100 | 1 4 195 =i 1jt @EE_E’“ ; aed z
& [ axi00 | 1 | _4 760 B B 'EEIE’% —= i i56r i
B [ axi00 | 1T | 5 400 EGEES o oo :
& | ax100 | 1 | 5 403 NE #7 223 1 i0os :
B [ 4xi00 | 1 [ 5 209 A £22 1 1055 1
B [ ax00 [ 1 [ 5 414 —& B 223 1 1055 :
B [ 4xi00 | 1 [ 5 427 A Bl £I2 1 1055
3 | ax100 | 1 | 6 365 T ) s o 717
B | 4x100 | 1 | 6 366 HE & %'ﬁ = X7
B [ 4xi00 [ 1 | 6 367 TH BE DL = :
& | 4100 | 1 [ 6 369 B Ak %'ﬂ]%g% T T
B [ axi00 [ 1 | 7 235 NERE B *?éfi‘; 2 1587 :
B 4%100 | 1 7 237 E AR }E%i‘EA : i55] ;
B [ 4xio0 [ 1 [ 7 242 T 2 T N VT i
B [ 4x100 | 1 7 247 HE &) %gigﬁ ; 1557 1
B [ 4100 | 1 | 8 52 kB A G 16 : TR 2
5 [ 4xi00 | 1 | 8 53 SiE Bn (s : TR ;
B [ 4xi00 | 1 | 8 51 25 B Fﬁ* & ; TR 3
5 | 4+100 | 1 | 8 50 TH 1'35‘22(’%) : TR :
& [ 4v100 | 1 | _8 54 XKH a4y 455;;:(%) ; TR
B [ axio0 | 2 | 1 209 NEZEA K e B AR
B [ axi00 | 2 | 1 214 TH 558 RAEA ; TYAE
& [ 4xi00 | 2 | 1 212 ERE = T . SR
B [ axi00 | 2 | 1 208 % G RAEA ; TYAE 1
5 [ 4%i00 | 2 | 1 210 =0 A OETY : AE 3
B [ 400 | 2 | 2 639 FE om 7i<lﬁﬂA L INT] s
5 [ 4xi00 | 2 | 2 646 INEE_ 270 K ﬁtﬂA 2 TN 1
B [ 400 | 2 | 2 652 FH il RE A 2 I ;
B [ 4xi00 | 2 | 2 654 =0 2F : A 2 1574 :
8 [ 4xi00 [ 2 | 3 1309 FE & A A : 1595 4
B [ axi00 | 2 | 3 1311 BHaoE TS e 259 :
& | 4%100 | 2 | 3 1313 =) = IS : 159
—® [ 4xi00 | 2 | 3 1310 HE W TS ST 555 :
—F [ 400 | 2 | 3 1312 =2 fauy EIZes : 1058 :
:5% s100 T2 3 1236 TER s 4599 ’
¥100 | 2 | 4 236 NE BE ERE 5
% 4 2 2 EEHEB 2 44.86 3
& | axi00 | 2 | 4 228 ﬁ%fﬁ :E'EEB EEaes : $156 <
B [ axi00 [ 2 | 4 246 % R ?E:LE‘B S 2as :
B | 4%100 | 2 | 5 9 NGER L St & 1350 4
—® [ 400 | 2 | 5 5 =& 24 5 1 1550 :
B [ 400 | 2 [ 5 16 =% A L 1 1950
—® [ 400 | 2 | 5 17 TH T 5 1 1550 :
> e T2 1 17 il TES i 23.90 4
_% 4¥100 | 2 | 5 936 =& &y :F } 23'90 -
4%100 | 2 | 6 T B 282
B [ 4x100 [ 2 | 6 jgg f%a;@% ﬁa‘sﬁ‘@‘;A : i55s >
3 | 4+100 | 2 | 6 496 E 1EA 1 Y z
3 | 4x100 | 2 | 6 852 NE =5 ﬁ%A T ) i
B | 4%100 | 2 | 7 206 BN ERK AL . 4002 1
| B 4x100 [ 2 7 507 B[R #hth ’E%f]Fﬂ'ZEI_B :
B 4x100 [ 2 7 510 k% kH B ﬂFiﬁEB 1
| = 4x100 [ 2 7 755 B% EJFTT"E'B >
N 4%100 | 2 8 203 BUNEE EX ﬁﬂf‘f‘E‘D 3
3 | 4x100 | 2 | 8 509 ER i T : T :
3 | 4+100 | 2 | 8 512 e orE ﬁﬂﬂﬁ‘LgD : i :
B [ axi00 | 2 | 8 513 B _BA oD : T :
HA BR [ T 37 5D 3 4551 4
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E 4%100 3 2 189 aH 13 R—LTa/TC DNS
2 4%100 3 2 193 FHi K R—LI/TC DNS
5 4%100 3 2 190 211 =7 r—LI/TC DNS
] 4%100 3 2 192 BE Fi FR—LIO/TC DNS
B | 4x100 [ 3 2 191 +£H Fk R—LITa/TC DNS
;] 4%100 3 2 194 =2 W= H—LITa/TC DNS
B [ ax100 | 3 3 530 =g EAER ek 5 48.35 1

B | ax100 | 3 3 531 NS ELL v kg 5 48.35 4

B 4%100 | 3 3 536 RPN Jt Ltk 5 48.35 2

B | 4%100 | 3 3 1685 EEE Lk 5 48.35 3

B [ 4x100 | 3 4 660 Fik XZ EIEER= 1 4584 1

B | 4%100 | 3 4 664 S &t LS 1 45.84 2

B | 4x100 | 3 4 896 AH B EEdLE 1 4584 4

B [ 4x100 | 3 4 900 5l = IR 1 4584 3

B | 4x100 | 3 5 1 kS ER=IN REg 6 50.99 2

E] 4%100 3 5 9 A FEX Hais 6 50.99 3

B [ 4x100 | 3 5 1738 kg —= KA 6 50.99 1

E2 4%100 | 3 5 1737 EAR BA Rarg 6 50.99 4

B | 4x100 | 3 6 412 g L EIRmE 3 46.98 4

8B | 4x100 | 3 6 423 e £ ERE R 3 46.98 3

B | 4x100 | 3 6 409 Sl &3t ERmES$ 3 46.98 2

B | 4x100 | 3 6 420 HiE BENE 5 RE 3 46.98 1

B | 4x100 | 3 7 529 SIfE MEA EHEES 2 46.42 4

B | 4x100 | 3 7 526 thet B EIREEIS 2 46.42 1

B | ax100 | 3 7 527 mE B REEES 2 46.42 3

B | 4x100 | 3 7 528 aA K EHEES 2 46.42 2

B8 | 4x100 | 3 8 205 fERK BE R ThIIEC 4 47.33 3

B [ 4x100 | 3 8 212 miz K R S C 4 47.33 2

B | 4x100 | 3 8 752 KE #HA EEHIISC 4 47.33 1

8 | 4x100 | 3 8 753 +H B EEmIIEC 4 47.33 4

B 4%100 | 4 3 856 EE s EEFEB 3 48.32 1

B [ ax100 | 4 3 493 Fig R& 1t&meB 3 48.32 3

B | ax100 | 4 3 854 = BAH itEm=B 3 48.32

B | 4x100 | 4 3 855 FTH X EEFEB 3 48.32 4

B | 4%100 | 4 3 497 =R # 1EEm=B 3 48.32 2

B | 4x100 | 4 4 283 FE BN KES 1 46.21 4

B | 4%100 | 4 4 727 2l BE XES 1 46.21 1

B | 4%100 | 4 4 728 TA AES 1 46.21 2

B | ax100 | 4 4 729 M HE KES 1 46.21 3

B | 4x100 | 4 4 730 NEREPN KES 1 46.21

(3] 4%100 | 4 5 43 Tk KiE fE&LhA DNS
B | 4x100 | 4 5 40 AH EA 1E&dLhA DNS
E:] 4x100 | 4 5 49 EEF OBEA E&JbhA DNS
(2 4x100 | 4 5 52 INE iEEdLhA DNS
B [ 4100 | 4 5 1398 X5 BA E&thA DNS
E] 4x100 | 4 6 487 e Xqt 84D 4 48.67 3

B | 4x100 | 4 6 1372 kg e L#H D 4 48.67 4

B | 4x100 | 4 6 481 FTE =B LEE 4D 4 48.67 2

E 4%100 | 4 6 497 = =3 LEFD 4 48.67 1

B | 4x100 | 4 7 1380 =H ="K FHDhG 5 48.83 1

B [ ax100 | 4 7 479 EEEEIE EEBHG 5 48.83 3

B | 4xi00 | 4 7 498 =F E3 LEHRG 5 48.83 4

B 4¥100 | 4 7 476 £k T LEHG 5 48.83 2

B [ ax100 | 4 8 1079 EIBILAER LH$ 2 47.86 4

B | 4x100 | 4 8 1081 RIF BB LHs 2 47.86 1

B 4%100 | 4 8 1083 BH K#t FHEF 2 47.86 2

B | 4x100 | 4 8 1595 EE X LM 2 47.86 3
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
B | 4x100 | 5 3 439 Ein & TS 1 49.24 2
B | 4x100 | 5 3 435 Tk BEX TS 1 49.24 4
B | 4x100 | 5 3 848 =8 REE TS 1 49.24

B | 4x100 | 5 3 845 Fik X TS 1 4924 3
B | 4x100 | 5 3 438 AKX BE TS 1 49.24 1
B | 4x100 | 5 3 846 INEFF HoEE TS 1 49.24

B | 4x100 | 5 4 642 INE BEh KREa$B 3 50.02 1
B | 4x100 | 5 4 647 o KREEHB 3 50.02 4
B | 4x100 | 5 4 648 EARKR 1&A JKREEHB 3 50.02 3
B | 4x100 | 5 4 655 AHE mt KREHB 3 50.02

B | 4x100 | 5 4 656 hiE Bz KREa$B 3 50.02

B | 4x100 [ 5 4 657 J\E# hH JKRE B 3 50.02 2
B | 4100 | 5 5 54 2% K it&itB 2 49.25 2
B | 4x100 | 5 5 53 EiE B3t it&it$B 2 49.25 4
B | 4x100 | 5 5 1399 HEE finBk t& B 2 4925 1
B | 4%x100 | 5 5 1404 AR BEPS it&dk4B 2 49.25 3
B | 4x100 | 5 6 534 EAKRK BE bkt 4 54.03 4
B | 4x100 | 5 6 537 mi Sk it £ 4 54.03 3
B | 4x100 | 5 6 535 = &M Jt Ltk 4 54.03 2
B | 4x100 | 5 6 1691 % X Jt Ech 4 54.03 1
B | 4100 | 5 7 1422 B2 KFH JKREEHE 5 57.02 3
B | 4x100 | 5 7 1434 BK E FKREIFE 5 57.02 1
B | 4x100 | 5 7 1438 RZE IKREHE 5 57.02 2
B | 4x100 | 5 7 1440 BEHE B JKiRmE 5 57.02 4
B | 4x100 | 5 8 220 ERREE KiRdC 6 58.28 3
B | 4x100 | 5 8 1478 ki F3 KiRgC 6 58.28 4
B | 4x100 | 5 8 1479 Bf £ JKREC 6 58.28 1
B | 4x100 | 5 8 1480 B IEHR KiRdC 6 58.28 2
B | 4x100 | 5 8 1476 INFFEKX KiRgC 6 58.28

B | 4x100 | 6 2 667 =8 E# JKiREaHD 4 55.20 2
B | 4100 | 6 2 673 A —i JK:REEHD 4 55.20 4
B | 4x100 | 6 2 1424 =g BEX JKiREgHD 4 55.20 3
B | 4x100 | 6 2 1428 | A4/ K % /KREEED 4 55.20 1
B | 4x100 | 6 3 659 &I EEth JKREEHC 2 51.30 4
B | 4x100 | 6 3 660 XA E=E JKREEFC 2 51.30 2
B | 4x100 | 6 3 1423 = B8 JKREEHC 2 51.30 3
B | 4%x100 | 6 3 1439 ik fiyE KREHC 2 51.30 1
B | 4%100 | 6 4 810 ZF#h RR BRBAIE X 18 1 51.03 2
B | 4x100 | 6 4 811 FTE EBE5E BLREAIE R 1B 1 51.03 1
B | 4x100 | 6 4 812 BH FAER BIRBHIE X 18 1 51.03 3
B | 4x100 [ 6 4 813 ZA LE ALRBIE R i 1 51.03 4
B | 4x100 | 6 5 218 =3 BifE KR$B 3 52.33 4
B | 4x100 | 6 5 221 full F KREB 3 52.33 2
B | 4100 | 6 5 222 = &N KRB 3 52.33 3
B | 4x100 | 6 5 219 AEH XE KRFB 3 52.33 1
B | 4x100 | 6 6 17 LE K& EIR—th

B | 4x100 | 6 6 19 Fih &1 FER=—h

B | 4%x100 | 6 6 22 Hi & IR

B | 4x100 | 6 6 21 kE & ER—dh

B | 4x100 | 6 7 982 Mg SR &

B | 4x100 [ 6 7 984 1 EARER &

B | 4x100 | 6 7 983 ERK K 1E&h

B | 4100 | 6 7 981 ZFH AL {t&th

B | 4x100 | 6 8 1421 AH HEA JKiIREFF 5 58.74 2
B | 4%x100 | 6 8 1425 HiE ER IKREHF 5 58.74 4
B | 4x100 | 6 8 1429 | &k FHIE JKREIHF 5 58.74 3
B | 4x100 | 6 8 1432 1IN IKREHF 5 58.74 1
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
£ 100 1 1 24 i E tEHms 6 13.14 0.0
E=S 100 1 2 111 FH ﬁ‘i%ﬁk T/ &g 7 13.19 0.0
% 100 1 3 57 T FiE 5FX 2 12.34 0.0
S 100 1 4 56 =1 fna EFX 1 12.21 0.0
% 100 1 5 211 EARK & TtEES 4 12.49 0.0
E=S 100 1 6 55 D Hi*“ EFX 3 12.39 0.0
E=S 100 1 7 460 e 3A dt Lt DNS
£ 100 1 8 242 B F 1i KES 5 12.95 0.0
E=S 100 2 1 352 [DER EIF#'J ERES 8 13.75 | -0.9
S 100 2 2 274 D3 FoR JtE-FEh 7 1369 | -09
£ 100 2 3 177 #=H B EAF 5 13.33 | -0.9
E=S 100 2 4 219 REH FE TEERS 4 13.21 -0.9
E-S 100 2 5 80 =i YA KR—& 6 13.39 | -0.9
S 100 2 6 9 5% BE LIRS 2 1298 | -0.9
S 100 2 7 217 BE EEFE EERS 1 12.86 | -0.9
S 100 2 8 220 5H V&Y TtEES 3 13.03 | -0.9
S 100 3 1 194 ERK BEE RERE KM S 8 1424 | +0.2
% 100 3 2 22 ERRK EE tEHES 5 13.64 | +0.2
S 100 3 3 213 k% KM TtEES 1 1312 | +0.2
S 100 3 4 612 ERK BER tEHms 3 13.34 | +0.2
E=S 100 3 5 459 PR Er it £ 4 13.60 | +0.2
S 100 3 6 461 INERE BE dtErh 2 13.21 +0.2
S 100 3 7 188 EH B3 E=AHT 6 13.66 | +0.2
E=S 100 3 8 205 BR ER TEEES 7 13.73 | +0.2
= 100 4 1 214 ik BE TtEES 1 1319 | -0.2
E=S 100 4 2 366 B A AL YR 2 13.25 | -0.2
ES 100 4 3 470 Bl FEXE b kg DNS
E=S 100 4 4 212 /ELHE%E JKiR e 5 1356 | -0.2
S 100 4 5 1165 FEEEHR fE;Rch 6 1358 | -0.2
E=S 100 4 6 5 aH kB RErg 7 1495 | -0.2
E=S 100 4 7 363 BiE EXRF EEhIS 4 13.44 | -0.2
S 100 4 8 365 f2H X8 BEHIS 3 13.41 -0.2
= 100 5 2 707 E7 HV PAETLTS) 4 1409 | +0.6
E=S 100 5 3 601 EE K REMENS 5 1448 | +0.6
S 100 5 4 307 B B EMEENS 1 12.74 | +0.6
£ 100 5 5 308 HE #FxE RArE ) 2 13.37 | +0.6
E=S 100 5 6 309 EH & EEENS 7 1483 | +0.6
S 100 5 7 708 HA HfE EMEENS 6 1479 | +0.6
E=S 100 5 8 248 EE BB Eal 3 1354 | +0.6
% 100 6 1 83 Ee BTt KR—= 3 13.51 +0.2
S 100 6 2 271 ik Bx dtt-Ffh 7 1477 | +0.2
E=S 100 6 3 131 JIH‘T?J’-E EERH 5 13.87 | +0.2
E=S 100 6 4 1275 KR EE =EFFEf 4 13.84 | +0.2
S 100 6 5 25 EE FR Tt LEmS 1 13.33 | +0.2
S 100 6 6 115 [REH XRK T/ ke DNS
E=S 100 6 7 206 FH B TtEES 2 13.49 | +0.2
= 100 6 8 351 R FK 1EEES 6 1389 | +0.2
S 100 7 1 632 =0 HEe tEmEs 4 13.84 | -0.3
E=S 100 7 2 603 A#E BE I 3 1375 | -0.3
S 100 7 3 91 fEiE RK KiR—& 7 1436 | -0.3
S 100 7 4 595 2 ERF t&Ets 1 13.61 -0.3
=S 100 7 5 51 BiE KB it&dts 5 1408 | -0.3
= 100 7 6 218 R BE TtEES 2 1367 | -0.3
S 100 7 7 269 Enyv e ER tE-FEh 6 1434 | -03
=S 100 7 8 498 J\ERB XK IEF 8 1460 | -0.3
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" | B | M |[L—|ERES Ez% & 6| & | 25 | EE
£ 100 8 1 186 WIZEEZ AL YA ) 1 1347 | +1.0
E=S 100 8 2 95 e 8% KR—= 3 1374 | +1.0
E=S 100 8 3 89 INBE LBA KiR—= 5 13.91 | +1.0
E=S 100 8 4 415 ki EE L5 7 1413 | +1.0
% 100 8 5 536 e 28 REE—5 6 1397 | +1.0
-8 100 8 6 529 Ik = NELE 8 1424 | +1.0
S 100 8 7 1430 211 BEEx RArs 2 1348 | +1.0
E=S 100 8 8 370 RKE L\H REEES 4 13.77 | +1.0
% 100 9 1 502 B2 =B el 5 13.93 | +1.4
S 100 9 2 427 Il BH — B — S DNS
£ 100 9 3 14 BEEF #A R 4 1389 | +1.4
E=S 100 9 4 182 ERK A RS 6 1401 | +1.4
E-S 100 9 5 364 HO =1 RIS 3 13.77 | +1.4
S 100 9 6 189 e FE REHIS 1 1347 | +1.4
E=S 100 9 7 204 ki S& TEEES 7 1404 | +1.4
S 100 9 8 1128 RGeS Evakaa 2 1356 | +1.4
E=S 100 10| 2 277 i 28 dtt-FEh 7 1430 | +2.1
% 100 | 10| 3 1519 ZH DE Jt ko 3 13.87 | +2.1
S 100 [ 10| 4 604 #aE fE=x RE[E R = 5 13.97 | +2.1
S 100 [ 10| 5 75 =3 EE KiR—& 4 13.89 | +2.1
E=S 100 | 10| 6 86 =g WEFE KR—& 1 1356 | +2.1
S 100 [ 10| 7 333 A ETE EE=5 6 1398 | +2.1
S 100 | 10| 8 207 INIL SEE TtEES 2 13.68 | +2.1
E=S 100 | 11 1 905 BAR BF LHAF 4 1403 | +1.4
S 100 11 2 466 FHithn YA bt DNS
E=S 100 11 3 1539 ELRK IMF &Kmhike 3 1390 | +15
ES 100 | 11 4 349 TR FH 1tEmEe 2 13.86 | +1.5
= 100 | 11 5 213 =g BER JKiR s 1 1365 | +1.5
S 100 | 11 6 88 i il KiR—& 6 1434 | +15
E=S 100 | 11 7 954 i EZH 1tEme 7 1456 | +1.5
£ 100 11 8 63 BRIR .‘ﬁ'ﬂ‘z E&dk 5 14.11 +1.5
E=S 100 12 1 278 E BB JtE-FEd 7 1434 | +05
= 100 [12[ 2 1521 #TH ?-Tf;‘:% Jt £ 3 1415 | +05
E=S 100 12 3 456 ER BERKF :Il:J:c: 8 1438 | +05
=S 100 12| 4 81 W a4Ef JKIR— |—1 4 1424 | +05
£ 100 [ 12] 5 87 INEFE FITY KR—& 5 1429 | +0.5
E=S 100 | 12| 6 1215 = S T/ 6 1434 | +0.5
% 100 | 12| 7 17 EE ft8 &R —h 1 13.76 | +0.5
= 100 | 12| 8 1166 | Pk E3 % 3R — b 2 1390 | +05
% 100 | 13| 1 458 FIE ER b ko 7 1458 | +1.9
E°S 100 13 2 497 +XF BEE I89Fh 3 1425 | +1.9
£ 100 | 13| 3 906 FAHZFEALIE LH$ 5 1444 | +1.9
= 100 [ 13] 4 508 FIE B AES 1 1362 | +1.9
S 100 | 13| 5 635 W EE tEfES 6 1449 | +1.9
z 100 | 13| 6 681 1R FIk BEERS—ORRE(E| 8 1473 | +1.9
E=S 100 [ 13| 7 1448 Tk ¥ EIRmES$ 4 1426 | +1.9
=S 100 13 8 376 BE ZFHE RHEES 2 1424 | +1.9
E°8 100 14 1 59 R Efe 1E&ded 7 1488 | +0.5
E=S 100 [ 14] 2 362 ErRRK B% RETHIS 1 13.85 | +0.5
= 100 | 14| 3 361 INER BR EEHIS 5 1454 | +0.5
E=S 100 14| 4 462 aH EAKTE dt Lt 4 1452 | +05
=S 100 | 14| 5 464 Fik L& Jt kg 3 1444 | +05
E=S 100 | 14] 6 534 A BE AL YA ) 6 1458 | +0.5
E°S 100 14 7 187 k& &£ =RH 2 1429 | +0.5
=S 100 | 14| 8 559 B BEFE JKiREE DNS
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
£ 100 [ 15] 2 90 ik HIE KR—& 3 1436 | -0.5
E=S 100 [15] 3 92 £ 01t KR—= DNS
E=S 100 15| 4 1329 HE B% ik 2 1425 | -05
E°S 100 15 5 214 RIDFEH KR 1 14.21 -0.5
= 100 [15] 6 606 ERRK FFE RS 6 1559 | -05
= 100 [ 15] 7 113 ZE EK T/ 5 1510 | -05
= 100 | 15| 8 725 ki ERF —BEE—5 4 1449 | -05
L8 100 16 1 1175 I FiE B R 1 1427 | +1.3
% 100 [ 16] 2 1223 Hit &5 =R 2 1427 | +1.3
S 100 | 16| 3 179 FE BE =RH 5 1475 | +1.3
= 100 | 16| 4 1 == BE RA$ 8 1530 | +1.3
E=S 100 | 16| 5 6 Bl AKX REg 7 1492 | +1.3
S 100 | 16| 6 175 = KBE =Rt 6 1480 | +1.3
E=S 100 16 7 1150 )l FiF ERH 3 1445 | +1.3
E=S 100 16 8 1246 T HFZF KREH 4 1459 | +1.3
S 100 17 1 1290 WA R KR 6 1468 | +0.8
= 100 |17 ] 2 833 K FRR £ 2 1425 | +0.8
% 100 [ 17 ] 3 643 R KB EE=5 5 14.61 +0.8
E-S 100 17| 4 273 5 K JtE-Fd 8 15.05 | +0.8
S 100 | 17| 5 467 Zik =28 ETiGE 4 1459 | +0.8
E=S 100 [17] 6 636 HE EFFH EE=5 7 1490 | +0.8
S 100 |17 ] 7 553 I 3T RHEES 3 1433 | +0.8
S 100 | 17| 8 1285 B ¥an JKiR e 1 1414 | +0.8
E=S 100 | 18 1 526 NS R 4 1455 | +1.3
= 100 | 18] 2 613 A BIE LS 2 1426 | +1.3
S 100 | 18] 3 283 I dtt-FEh 5 1489 | +1.3
E=S 100 18] 4 592 FH ZH ZRBEIE DNS
= 100 | 18] 5 133 = B KREXES 3 1446 | +1.3
E=S 100 18 6 270 ik HRF JtE-FEd 7 16.04 | +1.3
E=S 100 | 18| 7 1200 KEF =) %@tﬁ 1 1418 | +1.3
E=S 100 | 18| 8 726 BE E —BE 6 15.05 | +1.3
E=S 100 19 1 641 T ENHF EEFJ:T—,‘ 2 1448 | +0.9
= 100 |19 2 1163 IREAAR M b E-FEf 8 14.71 +0.9
E=S 100 [ 19 ] 3 11 alE HmiE EIR—h 3 1448 | +0.9
= 100 | 19| 4 8 miE b RAl 4 1451 | +0.9
£ 100 [ 19] 5 48 ik KA E&de s 6 1457 | +0.9
= 100 [ 19] 6 1229 B E¥ &kt 5 1451 | +0.9
S 100 [ 19| 7 424 INGFE K — B — Sk 7 14.61 +0.9
S 100 | 19| 8 428 il XA — B — &M 1 1436 | +0.9
% 100 | 20| 2 594 AKEHEFE R &S 3 1482 | -05
E=S 100 | 20] 3 910 JnekE B2FE J:EEEF' 4 15.09 | -05
£ 100 [ 20 4 578 EEE KR—& 5 15.11 -0.5
= 100 [20] 5 84 =Z=E B 7KiR— 7 1552 | -05
S 100 | 20| 6 538 i & ?—JEE.—, 1 1446 | -05
S 100 [ 20] 7 573 TR HF KRE 2 1479 | -0.5
E=S 100 | 20| 8 1247 =H #Zb KREH 6 15.28 | -0.5
S 100 | 21 1 1552 Fik E2FH Rurg 6 1467 | -03
S 100 | 21 2 145 BARFTE EEAF 4 1455 | -0.3
= 100 | 21 3 215 AHZEDL JKiR e 5 1464 | -03
S 100 | 21 4 282 B R dtt-Fsh 8 1546 | -0.3
S 100 | 21 5 1483 = nEM —B— =Mt 7 14.71 -0.3
=S 100 | 21 6 1485 | =B ®HIEE 1E&h 3 1448 | -0.3
z 100 21 7 7 INL B fE =FJE_E|—: 2 14.47 -0.3
S 100 | 21 8 40 ERK Gk e o dan 1 1444 | -03
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
E°S 100 22 1 499 &Il _BHEE SLEF 2 1487 | -05
E=S 100 | 22| 2 1164 = 8k L E-FEf 1 1484 | -05
% 100 22 3 280 AR EXR Jt k- 6 1517 | 0.5
S 100 [ 22| 4 52 B EC E&dtsh 4 15.06 | -0.5
% 100 | 22| 5 55 AH # it&dts 7 1534 | -05
% 100 22 6 272 BEiE {tsE JtE-Fe DNS
E°S 100 22 7 1358 INER AEF] dtE-ma 5 1510 | -0.5
E=S 100 | 22 8 503 =JH HF IEF 3 1487 | -05
= 100 | 23] 1 124 tH WE T/ 3 1483 | -2.3
S 100 | 23] 2 378 EXKi HERE ERE R 2 1474 | -2.3
£ 100 | 23] 3 372 LI EAE EIRE R 6 1504 | -2.3
E=S 100 | 23| 4 508 Bk 211 L% 4 1493 | -2.3
S 100 | 23] 5 1450 ki BT ERE R 7 1526 | -2.3
S 100 | 23] 6 1452 2l FE3 ERER 5 1495 | -2.3
2§ 100 |23 7 374 oy A ERmEH 8 1527 | -2.3
S 100 | 23| 8 376 k% EKR ERE R 1 1472 | -2.3
S 100 | 24] 1 18 =2 Rk R 2 1455 | +0.3
S 100 [24] 2 192 BA =Rt 6 1531 | +0.3
E-S 100 | 24| 3 174 HH BE FERH 8 16.39 | +0.3
= 100 | 24| 4 596 BB A W t&ilks 4 1474 | +0.3
= 100 | 24| 5 377 EEE S REEES 3 1467 | +0.3
=S 100 | 24| 6 184 =0 ER AL YA ) 5 1488 | +0.3
E°8 100 24 7 185 WhE ThE E=RH 1 1453 | +0.3
E=S 100 | 24| 8 191 AR EE =2 7 15.67 | +0.3
E:s 100 25 2 374 = && REEES 2 1493 | -0.1
S 100 [ 25] 3 93 kg HiE iR E (R 1 14.61 —0.1
E=S 100 [ 25| 4 276 & H 530 dtE-FEd 7 1559 | -0.1
E=S 100 [ 25] 5 1160 fIER RS dtt-Fsh 3 1498 | -0.1
S 100 [ 25] 6 824 BaT & E%‘iﬁ & 5 1522 | -0.1
= 100 [25] 7 372 AR DB REEES 6 1541 | -0.1
= 100 | 25| 8 375 =5 Ex} RHEES 4 15.07 | -0.1
S 100 | 26| 1 112 HHE nEF T/ h 5 1523 | -1.3
E=S 100 | 26| 2 918 B IEx LHs 7 1566 | -1.3
E=S 100 [ 26 3 208 BEEAE JKiR e 3 15.00 | -1.3
S 100 [ 26| 4 21 ki xF FEIRZ 4 1520 | -1.3
£ 100 | 26| 5 1480 Mg EE — B — &M 1 1480 | -1.3
= 100 [26] 6 510 =i EK L%t 6 1524 | -1.3
S 100 |26 7 1446 Ef E&H FERE R 8 1573 | -1.3
S 100 [ 26| 8 1451 HE HEH ERER 2 1481 | -1.3
8 100 | 27] 1 275 FIE BRI L E-FEf 7 1585 | -0.8
= 100 | 27| 2 1231 =@ #F 1t&des 4 1527 | -0.8
E=S 100 | 27 3 137 INREARF EERH 2 14.91 -0.8
E=S 100 |27 4 108 RiE FNE ‘F/J\E%EP 8 16.43 | 0.8
=S 100 | 27 5 263 TE BF —PBa%E 5 1546 | 0.8
S 100 | 27] 6 371 BE MEEFE %Hﬁ%m 1 1490 | -0.8
E=S 100 [ 27] 7 578 EH FEF KREH 3 1496 | -0.8
=S 100 | 27 8 281 = ek ¢ F-Fgeh 6 1565 | -0.8
S 100 | 28 1 1230 I8 G 1E&ded DNS
E=S 100 | 28| 2 614 &5H EXHBEF tEimS 1 1481 | -0.7
= 100 | 28] 3 1291 =8 EE JKiR s 3 1513 | -0.7
S 100 | 28] 4 1202 EEER EEAH 5 1535 | -0.7
S 100 | 28 5 1177 AR FK IEF 6 15.73 | -0.7
E=S 100 | 28 6 1138 82F MK K 2 15.08 | -0.7
S 100 | 28] 7 141 ER KRR EEAH 7 1573 | -0.7
=S 100 | 28| 8 1204 PAFEE EERH 4 1533 | -0.7
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
£ 100 | 29| 1 126 LERES T/hi&eh 2 14.42 0.0
= 100 | 29| 2 1161 NG ER L E-FEf 7 16.92 0.0
E=S 100 | 29 3 1162 ERK HE dtE-Fa 8 17.29 0.0
S 100 [ 29| 4 533 FIE L AL YA ) 1 14.11 0.0
% 100 | 29| 5 185 O & REHIiIS 6 16.21 0.0
E=S 100 [ 29| 6 1168 KX L& EIR=—rh 5 15.07 0.0
S 100 [ 29| 7 39 FHi %ﬂﬂ = FFh 3 14.98 0.0
= 100 [29] 8 94 =R 15 iR E R ED 4 15.06 0.0
E=S 100 [30] 2 1203 £k R EEARTH 1 15.34 | -0.6
S 100 [ 30] 3 680 ;Eﬁn %fhﬁt KREXES 5 17.03 | -0.6
= 100 | 30| 4 677 fIER e KRBEES 4 16.95 | -06
E=S 100 | 30| 5 678 i KRBEXES 3 16.38 | -0.6
S 100 [ 30| 6 679 kik BE KREXS 2 1573 | -0.6
S 100 [30] 7 1225 hHE E£E =HH DNS
E=S 100 | 30| 8 564 fﬂk T JKiREE DNS
oS 100 31 1 1522 WE Ek Jt £ 5 15.33 | +2.1
S 100 | 31 2 1561 %ﬁ,m EZ 1E&h 6 1549 | +2.1
% 100 | 31 3 19 a2 B EIRZ 3 15.30 | +2.1
S 100 | 31 4 1243 i Vb JKREH 7 1555 | +2.1
S 100 | 31 5 1244 eR B KREH 1 1514 | +2.1
E=S 100 | 31 6 1248 5H EE KiREg s 4 15.33 | +2.1
=S 100 | 31 7 139 HHZE8 EERT 8 16.18 | +2.1
E=S 100 | 31 8 1283 =R ER KR 2 15.30 | +2.1
-8 100 [32] 1 211 g E:R 7K;R e 6 16.02 | -1.0
S 100 [ 32] 2 1562 TE #HAE & 5 1575 | -1.0
S 100 | 32| 3 429 £ EX — B — &g 4 1564 | -1.0
ES 100 | 32| 4 140 - NEA EERH DNS
% 100 | 32] 5 1167 | &k HNF R —h 2 1521 | -1.0
E=S 100 | 32 6 545 2l =F FES 1 1489 | -1.0
E=S 100 | 32| 7 1288 FH =E KR b 3 1559 | -1.0
% 100 | 32| 8 1281 EZELE JKiR eh 7 16.15 | -1.0
= 100 | 33| 1 628 AXHx BE TS 1 1492 | -1.9
E=S 100 | 33 2 1286 =% & KR 3 1562 | -1.9
E=S 100 | 33| 3 622 2R 2 ol ) 4 1583 | -1.9
S 100 [ 33| 4 43 WH EF 1= FFh DNS
£ 100 [ 33] 5 1226 Fik B0 it&dtsh 6 1654 | -1.9
E=S 100 | 33| 6 1228 | {E42K L&E 1E&de 5 16.52 | -1.9
E=S 100 | 33 7 1289 BH =it KR 2 1554 | -1.9
S 100 | 33] 8 1214 EB AIEH T/ ke DNS
% 100 | 34| 1 1172 EH 2 ER—_th 3 15.62 | 0.8
S 100 | 34] 2 95 Pl o H iR E R (ED 6 16.10 | -0.8
£ 100 [ 34] 3 832 | EHE U= 1E&h 1 1473 | -0.8
E=S 100 | 34| 4 1245 FE 8 KREH 7 17.81 -0.8
S 100 [ 34] 5 1545 =2 4::# JKREH DNS
E=S 100 | 34| 6 624 FTH ¥8 T BS 5 16.04 | -0.8
E=S 100 [ 34] 7 1282 1&5& %‘ﬁ- KR 2 1545 | -0.8
S 100 | 34| 8 1232 B Y 1EEde 4 1578 | -0.8
S 100 | 35 1 1556 #H XE R 2 1498 | +0.7
E=S 100 | 35| 2 554 Fig £E REEES 1 1475 | +0.7
S 100 [35] 3 542 2R £E TES 3 1548 | +0.7
S 100 [ 35| 4 96 ik BEE iR E R (ED 5 15.62 | +0.7
S 100 | 35 5 1551 b EE Kt 4 15.61 +0.7
% 100 | 35 6 377 FE @% FERE T 7 17.15 | +0.7
E=S 100 | 35 7 1201 REERFTE EERH 6 16.20 | +0.7
=S 100 | 35| 8 46 INR B it&dts 8 17.73 | +0.7
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
£ 100 [ 36| 1 1287 BEEHDY JKiR e 7 1725 | -06
E=S 100 | 36| 2 97 i BT 5 iR E R (ED 3 16.06 | -0.6
£ 100 | 36| 3 758 BERBHE B i) B 2 DNS
E=S 100 | 36| 4 1224 AR =1 E=RH 6 1653 | 0.6
% 100 | 36| 5 1173 HHE BFE EIR—th 5 16.46 | -0.6
E=S 100 [ 36| 6 557 g 5 XM 4 16.17 | -0.6
E=S 100 | 36 7 1548 Bk RE &Kmhike 1 1585 | -0.6
£ 100 | 36| 8 544 FFHLDHH TFES 2 1597 | -0.6
% 100 | 37] 2 620 ERK EiE TEEEXS 4 16.87 | +0.8
= 100 | 37| 3 541 EiE E0 FES 3 16.83 | +0.8
= 100 [37] 4 492 XHF BE TEEEXS 2 16.11 | +0.8
= 100 [37] 5 109 g &BiE T/ 5 1709 | +0.8
E-S 100 | 37 6 539 Rl 1IEZE TFES 6 17.22 | +0.8
S 100 [ 37] 7 1183 b BEAR = FFeh 1 1494 | +0.8
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
= 200 1 1 213 ‘£ KM EERE 5 2694 | +19
E=S 200 1 2 80 =28 YA KR—= 6 27.10 | +1.9
% 200 1 3 220 =H V&Y TtEES 3 26.60 | +1.9
= 200 1 4 211 ERK B TtEES 1 2501 | +1.9 | K&%#H
E=S 200 1 5 1222 XE §8H EFXE) 4 2666 | +1.9
= 200 1 6 219 REH & TtEES 2 2619 | +1.9
E=S 200 1 7 1539 ELRK IMF &Kmhike 8 2889 | +1.9
E=S 200 1 8 508 FE mx KES 7 2806 | +1.9
% 200 2 1 709 B XE REENS 5 2884 | +1.2
S 200 2 2 601 BE B M ENS 7 3047 | +1.2
£ 200 2 3 313 Fi5 WPLy REEE S 4 2840 | +1.2
E=S 200 2 4 61 N B EFX 2 2715 | +1.2
S 200 2 5 307 B B M ENS 1 2605 | +1.2
S 200 2 6 308 HE #Fx AR E 2 3 2716 | +1.2
% 200 2 7 707 ER7 HO EEENS 6 2919 | +1.2
S 200 2 8 708 HA HE EMEENS DNS
S 200 3 1 17 HiE 16/ R 5 28.19 | +0.1
E=S 200 3 2 4 A FEE J\ % F BE1 1 27.12 | +0.1
S 200 3 3 206 FH B TtEES 2 2734 | +0.1
E=S 200 3 4 1165 FEEER RE;R eh 4 2796 | +0.1
E=S 200 3 5 24 Frith BT tEHES 3 27.38 | +0.1
S 200 3 6 274 D F #HER dtt-Fsh 7 2851 | +0.1
S 200 3 7 132 |54 XK BItE KREXS 6 28.34 | +0.1
E=S 200 3 8 595 22 ERF Nz-F| A=) 8 28.70 | +0.1
S 200 4 1 56 FEER REPRS 8 2889 | +1.3
= 200 4 2 205 BR ER TtEES 2 2769 | +1.3
E=S 200 4 3 2 INER 23X R 5 2822 | +1.3
% 200 4 4 202 BELL EE3E TtEES 3 2796 | +1.3
E=S 200 4 5 248 EE BE Eal 1 2730 | +1.3
E=S 200 4 6 115 [REH XRK T/ 6 28.26 | +1.3
E=S 200 4 7 556 = &t XM S 7 2856 | +1.3
S 200 4 8 351 BRI K L&k S 4 2814 | +1.3
= 200 5 2 218 R BE TtEES 1 27.98 | +0.8
% 200 5 3 277 JIliwm A L E-FEf 4 2905 | +0.8
=S 200 5 4 124 ItH #WE T/ &g 7 2950 | +0.8
£ 200 5 5 552 BRIl &E& KREXES 6 29.48 | +0.8
= 200 5 6 1430 Bl BEE Raig 2 28.31 | +0.8
= 200 5 7 603 A@E BEZ e R = 3 2877 | +0.8
S 200 5 8 604 e Hx REES 5 29.11 | +0.8
% 200 6 1 7 BEE UF REg 5 29.84 | +0.9
= 200 6 2 561 INFF EKF JKiRE & 2 2871 | +0.9
£ 200 6 3 594 AXHE FE R t&Ets 7 30.15 | +0.9
E=S 200 6 4 271 ik Bx L E-mEf 6 30.04 | +0.9
= 200 6 5 204 ki BR EERS 3 2893 | +0.9
E=S 200 6 6 210 By =13 KR 4 2897 | +0.9
E=S 200 6 7 498 JNEB XK IEF DNS
S 200 6 8 278 B &g Jt k- 1 28.61 +0.9
S 200 7 1 606 AR FE B[ R = 7 31.49 | +2.0
= 200 7 2 502 BiE =B 255 1 2823 | +2.0
S 200 7 3 467 %k 28 EiGs DNS
S 200 7 4 8 0iE D KAl 5 29.61 +2.0
=S 200 7 5 1521 H TEF Jt kg 2 2871 | +2.0
E=S 200 7 6 269 Eny e R dtE-FEo 3 2892 | +2.0
S 200 7 7 214 RIDFEH JKiRch 4 2951 | +2.0
E=S 200 7 8 1290 | =] KR 6 2988 | +2.0
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
£ 200 8 1 1246 FE FZFE JKiRE s 7 3093 | +1.3
E=S 200 8 2 452 wE EA it £ 1 28.68 | +1.3
E=S 200 8 3 526 BR E£E R 6 29.98 | +1.3
S 200 8 4 613 A BEE dtEHES 5 2964 | +1.3
% 200 8 5 1215 =& S L 4 2963 | +1.3
E=S 200 8 6 1 Dz & R 8 3239 | +1.3
E=S 200 8 7 1223 HAT &8 EAF 2 2939 | +1.3
E=S 200 8 8 1150 = EAHF 3 2946 | +1.3
L8 200 9 1 51 5B KB E&de 4 2084 | -07
S 200 9 2 1285 B ¥an JKiR e DNS
= 200 9 3 87 INEFFE FITY KR—B 3 29.80 | -0.7
E=S 200 9 4 18 alE KK ER—_th 2 2966 | -0.7
E-S 200 9 5 1163 SREAAR ME JtE-FEd 6 30.34 | -0.7
S 200 9 6 207 IMIL SEE TtEES 1 28.07 | -0.7
x 200 | 9 | 7 681 el mx ERS—a¥Re(E| 5 3017 | -0.7
E-S 200 9 8 215 AHEZEL KR 7 31.30 | -0.7
S 200 | 10] 2 1358 INER AEF] L E-FEf 7 3302 | +15
% 200 [ 10] 3 1164 =1 dtt-FEsh 4 30.19 | +15
= 200 [10] 4 133 = B KREES 3 2986 | +1.5
S 200 | 10] 5 1552 Fik EF RErsg 5 3024 | +15
E=S 200 [ 10] 6 273 EiE MK b t-Fsh 6 30.33 | +1.5
S 200 | 10] 7 90 k% BIE KiR—& 2 2940 | +15
E=S 200 10| 8 114 THER EH T/hi&eh 1 28.91 +1.5
E=S 200 11 1 280 BHREX b t-Fsh 7 3085 | +0.9
S 200 | 11 2 466 Ft MYA Jt_Erh DNS
S 200 | 11 3 451 HE Bé ¢k 4 30.41 | +0.9
ES 200 | 11 4 283 ik R L E-mEf 5 3053 | +0.9
= 200 | 11 5 1483 | &# DEM —E—=ks 6 30.76 | +0.9
E=S 200 11 6 641 TH =EHF RE=5 2 29.79 | +0.9
E=S 200 | 11 7 1519 ZH DE Jt ko 1 28.33 | +0.9
E=S 200 | 11 8 48 HiE KH E&dtsh 3 2994 | +0.9
E°S 200 12 1 187 k& &£ =RH 3 2987 | +1.6
E=S 200 | 12] 2 131 Fh F31 KREXS 2 2981 | +1.6
% 200 [ 12] 3 113 ZiE EK T/ 4 30.85 | +1.6
=S 200 12| 4 508 Rk BE LErh DNS
£ 200 | 12] 5 497 +XF BEE SI89F 1 2915 | +1.6
E=S 200 12 6 1549 ERAK XER Krdeg 5 3244 | +1.6
S 200 | 12| 7 678 i i KREXES 7 3488 | +1.6
S 200 | 12| 8 679 ik BE KREES 6 3433 | +1.6
% 200 [ 13] 1 209 TH &R KR 6 31.60 | +1.8
S 200 | 13 ] 2 1175 Ml HFTE IR 2 3044 | +1.8
£ 200 | 13 ] 3 1247 =5H &b JKiREE 3 31.03 | +1.8
E=S 200 [ 13] 4 192 BAX B =2 4 3126 | +1.8
S 200 13 5 185 R ThE ERH 1 29.91 +1.8
S 200 | 13] 6 191 BAH ZF =RHTF 5 3128 | +1.8
E=S 200 | 13| 7 272 EiE 1t dtt-FEsh DNS
S 200 | 13| 8 624 B B HA T DNS
S 200 | 14 ] 1 1291 af BE KR 8 31.90 | +0.7
E=S 200 14] 2 63 R fEK e&dr g 2 30.20 | +0.7
=S 200 14| 3 59 AR B iE&jth 6 3145 | +0.7
S 200 | 14] 4 499 TIEL SI89F 3 3026 | +0.7
E=S 200 14| 5 503 =JH HF IEF 5 31.13 | +0.7
E=S 200 | 14] 6 614 &H XHE (=) 1 30.18 | +0.7
S 200 | 14] 7 112 2H mEF /&R 4 30.89 | +0.7
E=S 200 14| 8 572 NE IDE KREH 7 3149 | +0.7
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
= 200 [ 15] 2 680 215 T KREXES 4 3657 | +1.5
E=S 200 | 15] 3 1214 EIB AEH T/ DNS
E=S 200 | 15| 4 426 TE &5 — B — S kg 1 2070 | +15
S 200 [ 15] 5 453 Rl BE ek 2 31.09 | +15
% 200 [ 15] 6 52 BiE EC it&dts DNS
= 200 [ 15] 7 1225 hHE EE =RTF DQ
= 200 [ 15] 8 571 INEFE BB JKiRE & 3 3123 | +15
E=S 200 16 1 1283 2R D KR 6 33.02 | +0.3
L4 200 16 2 1160 DS Jt E-Fd 1 30.88 | +0.3
S 200 | 16| 3 281 = ek dtt-Fh 5 32.21 +0.3
E=S 200 16| 4 1168 KX LZE FER=h 3 3183 | +0.3
E=S 200 16 5 270 ki BM-F tt-FEh 4 3204 | +0.3
E-S 200 16 6 282 AE BEARD .t 2 31.33 | +0.3
S 200 |16 7 758 BRBHE R BERE DNS
E=S 200 [ 16] 8 624 TH ER ol ) DNS
S 200 | 17 ] 1 1282 ki Hi JKiR 3 32.30 | +0.8
S 200 |17 ] 2 1248 EHA Ex JKiREg s 5 32.93 | +0.8
= 200 [ 17] 3 1229 B E¥ &kt 1 30.15 | +0.8
S 200 [ 17] 4 1284 2R X 7K;R 4 3290 | +0.8
S 200 | 17 ] 5 1288 FH =£E KR eh DNS
E=S 200 [ 17 ] 6 1281 EZELE KR ch 6 33.31 | +0.8
=S 200 17 7 1286 =% & JK;R e 7 3416 | +0.8
S 200 | 17] 8 1289 BH BTt JKiR e 2 3224 | +0.8
E=S 200 [ 18] 1 1224 Hn =1 EAHF 5 3480 | -0.2
S 200 | 18] 2 126 Ak H%E N EL: 1 2996 | -0.2
E=S 200 18 3 1178 ISl S IEF DNS
ES 200 | 18] 4 275 FE iR L E-mEf 4 3324 | -0.2
% 200 | 18] 5 454 INEH BT Jt Ltk 2 3095 | -0.2
S 200 | 18] 6 94 R BE iR E R (ED 3 3126 | -0.2
= 200 | 18] 7 677 fIER fAE KiREES DNS
E=S 200 | 18] 8 1230 T8 B E&dtsh DNS
= 200 [ 19] 1 373 TEH i EHEED 1 31.07 | +0.7
E=S 200 [ 19] 2 1545 =3 TEF JKiREE DNS
E=S 200 19 3 1245 FE £ JKRE 7 36.90 | +0.7
S 200 [ 19] 4 1243 Fih UH KREg 3 33.09 | +0.7
£ 200 | 19] 5 1162 | k<K BE L E-FEf 6 36.08 | +0.7
E=S 200 19 6 1161 NG XA JdtE-Fd 5 3550 | +0.7
S 200 | 19 ] 7 96 ki 5% iR E R (ED 2 3289 | +0.7
S 200 | 19| 8 95 Pl HOH iR E R (R0 4 3352 | +0.7
E=S 200 [20] 2 1228 EAKR ILE {t&dtsh 5 3490 | +0.8
E=S 200 [ 20] 3 1226 Fik B0 ie&db g 6 35.03 | +0.8
£ 200 | 20| 4 1231 =@ #F 1E&de s 1 31.50 | +0.8
E=S 200 [ 20] 5 97 Fih BT 5 iR E R ED 3 33.15 | +0.8
S 200 20 6 1547 A& F= Z it 2 3224 | +08
E°8 200 20 7 1232 Ee Y t&dtsh 4 3373 | +0.8
E=S 200 [ 20] 8 109 g &BE T/ ko 7 35.82 | +0.8
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
£ 400 1 1 279 Bk b E-FEh 4 1.01.97
E=S 400 1 2 366 B i EEmIiIS 5 | 1.02.87
E=S 400 1 3 9 5% BE (=TS 1 59.04
S 400 1 4 1222 XE §E =2F X&) 2 59.65
% 400 1 5 65 = X K t&Ets DNS
= 400 1 6 312 B th=x REEENS DNS
= 400 1 7 217 BRE HE TtEES 3 | 1.01.30
E=S 400 1 8 461 INER BE v Eh DNS
= 400 2 1 56 FEEHR REPRS 7 | 1.06.62
S 400 2 2 76 I E KiR—& DNS
E=S 400 2 3 186 Wiz IES REHIIS 6 1.05.05
= 400 2 4 214 kg R TEERS 2 | 1.00.74
= 400 2 5 202 [ETTECES TEERS 4 | 1.0252
S 400 2 6 4 WA EE J\ I F E 1 59.98
E=S 400 2 7 242 A e KES 3 1.01.17
S 400 2 8 83 e Mt KiR—& 5 1.03.79
S 400 3 1 532 2R BF ALY ) 3 1.04.84
% 400 3 2 25 FiE ER tEHES 1 1.04.20
S 400 3 3 22 AR EE Tt LEmS DNS
S 400 3 4 95 Eig K KiR—& 5 1.05.62
E=S 400 3 5 86 =g WEFE KR—& 4 1.05.59
= 400 3 6 507 TR XES DNS
S 400 3 7 612 ERK BB |2 DNS
E=S 400 3 8 189 LTRSS EEHmIiIS 2 1.04.47
=S 400 4 1 362 ERK BF RIS 5 1.07.19
S 400 4 2 49 ERK BH itk 6 1.07.63
ES 400 4 3 91 £k RK KR—= 7 1.10.05
E=S 400 4 4 363 BiE EXRF EEhIS 1 1.03.18
S 400 4 5 365 f2H X8 BEHIS 2 1.04.01
E=S 400 4 6 313 Fi5 Ly REENS 3 1.05.19
E=S 400 4 7 556 = &t REE KM= DNS
S 400 4 8 369 e =T EHEES 4 1.06.67
E=S 400 5 1 248 EE BB Eal 2 1.05.13
E=S 400 5 2 309 EH && REMENS 7 1.08.26
=S 400 5 3 114 THHR EP /&R 1 1.03.10
£ 400 5 4 182 ErRK A REHIS 5 1.07.38
E=S 400 5 5 457 B x2 it £ 6 1.08.19
S 400 5 6 53 52Z X% PR S 4 1.07.09
S 400 5 7 709 HIEES: AR E 2] 8 1.08.70
= 400 5 8 176 R HE =RG 3 | 1.0562
S 400 6 1 364 HO =7 AL YA ) 5 1.10.25
£ 400 6 2 132 |{#E4<XK BiEE KREXES 2 1.06.33
E=S 400 6 3 1275 KR EE =EFFEf 1 1.05.56
= 400 6 4 194 ERK EE EEXMS 3 | 1.07.10
S 400 6 5 376 R ZFdE EHEES 4 1.08.92
= 400 6 6 241 REER HkE AES DNS
S 400 6 7 621 th2 EH EiGs DNS
S 400 6 8 361 INER BR ALY 6 1.10.94
= 400 7 1 131 i =3 KREES 2 | 1.09.20
S 400 7 2 184 ZEQO ER AL YA ) 7 1.13.58
E=S 400 7 3 592 FH BF ZEABEILS DNS
=S 400 7 4 265 EX B% —BEE -5 1 1.09.07
E=S 400 7 5 534 A BE A YR =) 4 1.10.25
z 400 7 6 9401 #a & BEERS-IFREPE] 3 [ 11015
E=S 400 7 7 276 & H 50 bt E-mEd 6 1.13.48
E=S 400 7 8 533 TE DE AL YA ) 5 1.13.18

39




" | B | M |[L—|ERES K4 & 6| & | 25 | EE
% 400 8 1 605 R BE R R = 1 1.07.99
E=S 400 8 2 1284 SRS KR ch 7 1.16.29
E=S 400 8 3 209 FTH &R KR b 5 1.12.02
S 400 8 4 552 BRIl E& KREES 2 1.09.53
% 400 8 5 496 =k xH I89F 3 1.10.84
% 400 8 6 1522 WE EK Jt Ltk 6 1.15.61
S 400 8 7 185 O & REHILS 8 1.22.64
£ 400 8 8 1176 %k 1A I89F 4 1.11.19
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% | B |8 (L—|BRES K4 & 6| & | 25 | EE
= 800 1 1 507 BRI #% KES DNS
E=S 800 1 2 258 INFF EK —BEE -5 6 | 22539
E=S 800 1 3 215 EH EE EERS 5 | 2.23.86
E=S 800 1 4 927 BE B KiRH 7 2.30.95
= 800 1 5 136 R A1t BE b = 1 2.11.11 GR
= 800 1 6 312 Bk hE EEEMNS 2 | 22077
S 800 1 7 279 £k dtt-FEh 3 | 220097
£ 800 1 8 892 B = Xk 4 | 2.21.96
L8 800 2 1 176 EHE $HxE FERH DNS
E=S 800 2 2 13 B EEF R R 1 2.25.68
£ 800 2 3 556 = &1t RERE KM S 5 | 2.32.72
= 800 2 4 468 TR ES ol ) 2 | 22833
S 800 2 5 353 KAR dih ERE R 6 2.42.96
= 800 2 6 200 EE ER iR 4 | 2.30.09
= 800 2 7 76 Eith £ KR—= DNS
E-S 800 2 8 127 Kl HEE NEL: 3 2.30.07
E=S 800 3 1 193 = ok EAHHF 7 2.46.39
% 800 3 2 380 NS = FERmESP 6 | 2.37.22
S 800 3 3 98 HE EX FEBEF R GED DNS
E=S 800 3 4 184 LT E=RH 2 2.30.18
E=S 800 3 5 186 EAa<K EAB =2 1 2.29.20
=S 800 3 6 195 BE KF =RF 5 2.36.14
S 800 3 7 63 % BH & t&Ets 3 | 2.32.86
E=S 800 3 8 189 PN S =2 4 | 2.33.09
S 800 4 1 338 WA F4 TS DNS
= 800 4 2 196 =% A TEERS 5 | 2.39.18
ES 800 4 3 265 EX B% —BEE -5 2 | 23448
= 800 4 4 28 1k B2E EAS DNS
S 800 4 5 183 JIlFT 2 EAHF 1 2.30.44
E=S 800 4 6 120 EAX BE T/ 4 | 2.35.41
= 800 4 7 209 B B4 1EEERS DNS
= 800 4 8 212 ERK EE TtEES 3 | 2.34.89
E=S 800 5 2 91 K ERH 5 2.40.16
E=S 800 5 3 92 = /Tl EHT 1 2.33.49
x 800 | 5 | 4 9401 ol & BERFS-OPRREP(E] 4 | 23807
£ 800 5 5 457 B X2 Jt ko 3 | 2.35.61
E=S 800 5 6 1328 | KT EA& B[z DNS
S 800 5 7 1487 BmHE E4A 1E&th 2 | 23521
S 800 5 8 190 fE 5 REHIIS DNS
% 800 6 2 623 B HSE ol ) 6 | 2.50.31
E=S 800 6 3 115 [FH X /&R 4 2.47.80
= 800 6 4 633 =8 FRR TtEEs 5 | 2.49.15
E=S 800 6 5 505 INE DD L5 1 2.39.23
S 800 6 6 1550 £k Xk PNIIE e 2 | 24181
= 800 6 7 629 CRTRES o ¥-Naa DNS
E=S 800 6 8 93 kg BE 5 iR E R ED 3 | 24653
S 800 7 2 190 =8 RXES =Rt 3 | 3.00.32
E=S 800 7 3 181 = E=RH 1 2.46.93
E=S 800 7 4 1174 hlll HE jE R DNS
S 800 7 5 211 W ER JKiR 4 | 30263
S 800 7 6 108 iz FhE T/hi&eh DNS
=S 800 7 7 217 =8 KiE KR 2 | 25945
E=S 800 7 8 916 MLE S LHAH DNS
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" | B | M |[L—|ERES K4 [2id— 6| & | 25 | EE
% 800 8 2 1563 BE =E & 6 2.59.20
= 800 8 3 1169 i /K ER—_ 5 | 25843
oS 800 8 4 1170 T EEEES R —h 2 | 251.79
E=S 800 8 5 1549 ERK X& Kmhike 4 2.57.07
= 800 8 6 730 HE X KiREES 3 | 25343
= 800 8 7 605 RH#FE EBE EEES 1 2.39.06
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% | B |8 (L—|BRES K4 & 6| & | 25 | EE
= 1500 | 1 1 23 TE UF B[ =TT 2 | 44459
= 1500 | 1 2 9 =K BRE EILES DNS
S 1500 | 1 3 258 /J\Eﬁ 7J< —BEE—5 3 | 44528
= 1500 [ 1 4 168 =R % PARE 9 [ 450.91
S 1500 | 1 5 99 EEEES pN:: aalCo0) 7 | 4.49.14
£y 1500 1 6 142 BF fis B[ AR 1 4.43.66
=S 1500 [ 1 7 149 WA F4E % [ Sl b 4 | 4.45.99
S 1500 | 1 8 160 XZE #H B[Rl A = 6 | 44887
S 1500 1 9 279 £ 0 . E-FEH 11 | 454.31
= 1500 [ 1 10 215 EH EB TtEES 5 | 44744
S 1500 1 11 178 E=igE REHIS 8 | 4.49.95
Z | 1500 | 1 | 12 148 THy EAT 2E [ i 18 | 5.13.05
= 1500 [ 1 13 145 k& SR [ AR 12 | 454.80
S 1500 | 1 14 152 KB EBE RE R A = 17 | 5.12.77
= 1500 | 1 15 10 FiE k= 3R = h 10 | 451.32
=S 1500 1 16 160 55H FGE ks ol 16 | 5.10.32
S 1500 | 1 17 537 BE nF R E—5 15 | 5.06.05
E°S 1500 | 1 18 257 Rk )Y —E—5 14 | 459.17
=S 1500 [ 1 19 98 Ha 2EX il e AaalCo0) DNS
kS 1500 1 20 890 5 28 EHH 13 | 4.56.55
S 1500 [ 2 1 927 B B KR 10 | 5.13.28
S 1500 | 2 2 28 FH = = 2 | 459.99
S 1500 | 2 3 159 BA AT R AR S 17 | 5.24.60
=S 1500 [ 2 4 532 R BF REEHIS 3 5.01.05
=S 1500 | 2 5 15 R &HZE R 7 5.09.18
S 1500 | 2 6 16 B EX R 4 | 50587
S 1500 2 7 326 HO & RE=5 DNS
S 1500 [ 2 8 203 REEA BATE TEERES 1 455.18
S 1500 | 2 9 1487 B E {t&th 14 | 516.42
= 1500 | 2 | 10 157 A it E A 18 | 5.26.53
S 1500 [ 2 [ 11 311 NESEETES EEENS 5 | 5.06.30
£y 1500 [ 2 [ 12 42 WHE DE = H 6 | 5.08.94
=S 1500 | 2 13 27 Hth FiF 1= Fh 8 [ 5.09.43
S 1500 [ 2 | 14 1206 = HFEE] HEEAH 16 | 5.19.83
kS 1500 2 15 328 RNk BE =5 13 | 5.15.60
=S 1500 [ 2 16 212 EarKRK EBEE TtERS 11 | 5.13.52
S 1500 | 2 | 17 264 TR ZEH —FEE—5 20 | 5.46.28
Z | 1500 | 2 | 18 581 il #3E BEXS 15 | 5.17.40
S 1500 [ 2 [ 19 353 AAR #FR ERmEH$ 19 [ 5.33.97
S 1500 | 2 | 20 356 Zth BE FERE R 12 | 5.14.11
£y 1500 | 2 [ 21 120 TR Bz§ T/ 9 [ 5.11.77
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E=S 1500 | 3 1 1328 AETFT &R it ep DNS
E=S 1500 | 3 2 49 AKX BF 1E&de s 5 | 5.26.02
% 1500 [ 3 3 622 INHE #E ZARR 7 | 5.27.26
S 1500 | 3 4 638 PEE HFAE RE=5 2 | 5.10.94
% 1500 | 3 5 29 EH FE = FFeh 8 | 52812
E=S 1500 [ 3 6 355 =0 #E ERES 1 5.09.47
S 1500 | 3 7 138 #]K ¥ RS DNS
£ 1500 [ 3 8 190 fE 5 REHIIS DNS
= 1500 | 3 9 505 INE DD +8h 4 | 519.48
S 1500 [ 3 | 10 112 HHE nEF TRk 9 | 5.30.49
E=S 1500 | 3 11 30 BH [F=5 = FF 3 5.17.38
E=S 1500 | 3 12 455 .t B b ko 6 5.26.73
E°S 1500 3 13 142 ZOY5 EEAT 11 | 5.34.01
S 1500 | 3 | 14 792 HHE EH BFXEfAG DNS
= 1500 | 3 | 15 6 INEFF K TES 12 | 5.34.42
= 1500 [ 3 | 16 634 =2 BE tEfES 10 | 5.33.90
S 1500 | 3 | 17 180 FHy FE REHIIS 13 | 5.36.12
% 1500 [ 3 | 18 20 =i B ER—_th 14 | 5.38.46
E-S 1500 | 3 19 640 B fEDA EE=5 17 | 5.51.04
E°S 1500 3 20 627 H F= A 15 | 5.50.07
E=S 1500 | 3 | 21 628 Fik WE ZARR 16 | 5.50.23
% 1500 | 4 1 1564 EMESS & h 14 | 6.03.53
E=S 1500 | 4 2 41 KR KF = FFh 3 5.36.36
E=S 1500 | 4 3 1180 FXA B i=FFh 4 5.37.51
S 1500 | 4 4 1554 = &BE R 6 | 5.40.62
E=S 1500 | 4 5 637 dtH B RE=5 13 | 6.01.71
ES 1500 | 4 6 1553 Rig B1E R 5 | 53975
= 1500 | 4 7 629 IZNKA B2 TS 9 | 55241
S 1500 | 4 8 22 iR IBE R 11 | 5.54.14
E=S 1500 | 4 9 100 B R 5 iR R (RO DNS
E=S 1500 | 4 | 10 101 TRk HhF 5 R R (R 7 | 5.46.07
E=S 1500 | 4 11 1182 R KEF = FFh 8 5.47.03
E=S 1500 | 4 | 12 1557 =i RErg 12 | 55468
= 1500 [ 4 | 13 37 &ith mARE = 1 5.29.16
=S 1500 | 4 14 109 falEp &H5E T/ &g 18 | 6.23.72
% 1500 | 4 | 15 1555 | ZREE KF RErg 10 | 5.53.46
E=S 1500 [ 4 | 16 1199 F+EESE EEARTH 15 | 6.12.02
E=S 1500 | 4 17 1205 BREXAR EEAH 17 | 6.18.88
E=S 1500 [ 4 18 181 =E B ERH 2 5.33.22
% 1500 [ 4 | 19 38 FHh 2L i=Fh DNS
E=S 1500 [ 4 | 20 1181 Rl =i = Fh 16 | 6.13.87
£ 1500 | 4 | 21 619 fEARAK IR TEEEXS DNS
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
£ 3000 1 1 161 =k FRE RS 1 9.55.77
E=S 3000 1 2 23 FIE MF Tt EHES 2 | 9.56.46
% | 3000 | 1 3 147 [TIN=¥i2 B [ S b = 5 | 10.24.67
% | 3000 | 1 4 201 ES TtEES 3 | 10.16.99
% 3000 1 5 127 71<JI| 5EE T/ &g 10 | 10.46.49
E=S 3000 1 6 168 =k = E&lﬁlfm"—* 4 | 10.22.24
% | 3000 | 1 7 257 {Rig B —lE—5 8 | 10.43.74
£ 3000 1 8 10 FiE kB ERZ EI: 6 | 10.37.05
% | 3000 | 1 9 200 EBE ER TtEES 12 | 10.54.59
% | 3000 | 1 10 208 It B TtEES 16 | 11.08.95
£ 3000 1 11 160 L@ FUTE FaEg 17 | 11.22.88
E=S 3000 1 12 537 éi nF REE—5 7 | 10.37.41
E-S 3000 1 13 16 BiE_HxX ,aa,R th 11 | 10.49.59
E=S 3000 1 14 535 ik ER REE—5 15 | 11.03.09
E=S 3000 1 15 390 ik 3 TES 14 | 10.57.47
S 3000 1 16 515 B A P RS 20 | 12.37.72
S 3000 1 17 68 ¥rHE IR 1EETRER 13 | 10.55.89
% 3000 1 18 581 Ll ALE BX5 19 | 11.4257
oS 3000 1 19 332 Bl B RE=5 18 | 11.26.96
S 3000 1 20 8 IE E&EF EFBHEEK DNS
% | 3000 | 1 21 180 HEn =X EEmIIS 21 | 12.47.57
=S 3000 1 22 311 JIF FRE REMENS 9 | 10.44.95
t | BB |4 [L—|B28BE K% 1] R | sy | BE
% | 3000SC| 1 1 20 21 8 tEHES 2 [ 121082
% | 3000SC| 1 2 195 INE ZCA TtEES 3 [ 12.11.20
% | 3000SC| 1 3 178 =i BA REHIiIS 1 | 11.44.26 GR
% | 3000SC| 1 4 187 hEEk EFH E%lﬁlﬂiﬁ‘.% 4 | 12.33.95
#% [ 3000SC]| 1 5 264 FE FL&H —BEE—5 DNS
% | 3000SC]| 1 6 210 Eik UE- m%i.—, 5 | 13.03.91
% | 3000SC| 1 7 216 = mE TtEES DNF
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% | B | 8 |L—|BRE K4 & 6| & | 25 | EE
% | 4x100 | 1 2 241 BEA HkE KES DNS
% | 4x100 | 1 2 242 B EE AES DNS
% | 4%100 | 1 2 507 B #“’ XES DNS
% | 4%100 | 1 2 508 FIE ﬁ% AES DNS
% | 4x100 | 1 3 328 L EEE B =5 5 53.46

Z | 4x100 | 1 3 329 BiIE HkE RE=5 5 53.46 4

% | 4x100 | 1 3 333 A 5T R =5 5 53.46 2

% | 4x100 | 1 3 636 FE 5 E B = 5 5 53.46

% | 4%100 | 1 3 641 T ENHF =5 5 53.46 1

% | 4x100 | 1 3 643 BRIE KB R =5 5 53.46 3

% | 4%100 | 1 4 54 Kig HE =EFX 1 47.09 1 REFH
#Z | 4x100 | 1 4 55 N BEE B2FX 1 47.09 2 i
% | 4x100 [ 1 4 56 =2 HE 52F XK 1 47.09 4 XEH
% | 4x100 | 1 4 57 T FiE =EFX 1 47.09 3 S
Z | 4x100 | 1 5 202 Bl R TEEESA 2 50.88 4

Z | 4100 | 1 5 205 /AR ER EEFTSA 2 50.88 1

% | 4x100 | 1 5 217 BRE EE m%i.—,A 2 50.88 2

% | 4x100 | 1 5 220 ='=EE V&Y EEESA 2 50.88 3

4 | 4%100 | 1 6 459 K Ef e b DNS
% | 4x100 [ 1 6 460 ﬁ N Jt Erh DNS
Z | 4x100 | 1 6 461 /\EE‘E S dt bk DNS
% | 4x100 | 1 6 470 KL BEE* Jt Ef DNS
% | 4%100 | 1 7 186 ’r’rw BRI S A 3 51.15 2

Z | 4x100 | 1 7 189 Bk H %ﬁ:‘T-S R hIiLSA 3 51.15 1

% | 4x100 | 1 7 363 BiE £RF RE [ i S A 3 51.15 3

% | 4x100 | 1 7 366 B A REFATH I S A 3 51.15 4

% | 4x100 | 1 8 182 ERR =& B[ h i =B 4 52.73 4

Z | 4100 | 1 8 362 ERK BX RE [ th iZ =B 4 52.73 3

% | 4x100 | 1 8 364 HO =5 B Th i =B 4 52.73 1

% | 4x100 | 1 8 365 2H XEB B[ i =B 4 52.73 2

% | 4x100 | 2 2 65 = 8 %X K it&lks 2 53.69 4

Z | 4x100 | 2 2 594 N % g # t&its 2 53.69 1

% | 4100 | 2 2 505 | I0 22 {ERF tELS 2 53.69 2

% | 4x100 | 2 2 596 E *rs B D tEILtS 2 53.69 3

Z | 4x100 | 2 2 64 Z B FH %rs tEILtS 2 53.69

% | 4100 | 2 3 349 LIRS TtEFES 4 53.89 4

% | 4x100 | 2 3 351 BE B TtEES 4 53.89 2

% | 4100 | 2 3 632 ZEO B TEES 4 53.89 3

% | 4x100 | 2 3 635 WH EE TtEES 4 53.89

% | 4x100 | 2 3 954 i = TtEm 4 53.89 1

Z [ 4x100 [ 2 | 3 347 NE EAFES 4 53.89

% | 4%100 | 2 4 206 TH & EEFEB 1 51.25 3

% | 4x100 | 2 4 207 NI EE EEHESB 1 51.25 1

Z | 4x100 | 2 4 213 Kk KE {EEHESB 1 51.25 4

Z | 4x100 | 2 4 214 kg Ei TEEHSB 1 51.25 2

% | 4x100 | 2 5 655 R CES EEdL s 5 54.29 2

% | 4100 | 2 5 657 IV %IJ ‘ﬁ EIREA=] 5 54.29 1

% | 4x100 | 2 5 658 ZEO EEF REtE 5 54.29 3

% | 4x100 | 2 5 659 e BHE FAREA=] 5 54.29 4

% | 4100 | 2 6 376 pElR ZFd RHEES 3 53.87 1

% | 4x100 | 2 6 369 HmE_— T8 REEES 3 53.87 2

Z | 4x100 | 2 6 370 KB L\ {H REEES 3 53.87 3

Z | 4x100 | 2 6 377 =K 3 REEES 3 53.87 4

% | 4x100 | 2 7 131 Fih =F KREES 6 54.33 2

Z | 4x100 | 2 7 132 |#&EAX BIEE KREXES 6 54.33 4

Z | 4x100 | 2 7 133 = B N ONGES S 6 54.33 3

% | 4x100 | 2 7 730 HE 2% KRBEES 6 54.33

Z | 4x100 | 2 7 552 BRIl =R KREES 6 54.33 1

% | 4100 | 2 8 17 = 1tm ESR Z—hA DNS
% | 4x100 | 2 8 18 alE kik ER_FA DNS
% | 4x100 | 2 8 1175 i3 EIR_hA DNS
% | 4x100 | 2 8 1166 | Rk EZJF EIR_ A DNS




% | B |8 (L—|BRES K4 & 6| & | 25 | EE
% | 4x100 | 3 2 558 IR JKREEHA DNS
% | 4x100 | 3 2 559 R BEFE IKREHA DNS
% | 4x100 | 3 2 560 INAE FiF ZKREEHA DNS
% | 4x100 | 3 2 561 INEFF EF JKREEHA DNS
% | 4x100 | 3 2 564 PR EI JKREEHA DNS
% | 4x100 | 3 3 215 AXHZFEDL KRdB 2 55.37 4

% | 4%100 | 3 3 214 BIIDEZEH KRB 2 55.37 2

% | 4x100 | 3 3 1285 B Ein KRB 2 55.37 3

Z | 4x100 | 3 3 1290 =] JKREB 2 55.37 1

% | 4x100 | 3 4 505 INE DD L8 5 58.00 3

% | 4x100 | 3 4 508 ®E =E ¥ 5 58.00 1

Z | 4%100 | 3 4 510 =) XK L8 5 58.00 2

Z | 4x100 | 3 4 415 ki Ex L %h 5 58.00 4

% | 4x100 | 3 5 467 ®ik 28 ETIB5 DNS
% | 4%100 | 3 5 468 CAITIREES ETIRE DNS
% | 4x100 | 3 5 621 tr2 EHA Pl B DNS
% | 4x100 | 3 5 622 =G ETIBS DNS
% | 4x100 | 3 5 623 ,Eﬁn &é& ETIBS DNS
% | 4x100 | 3 5 624 2R ETi5S DNS
% | 4x100 | 3 6 204 EE% EH& EEERSC 1 50.78 1

% | 4x100 | 3 6 211 EARKRK & 1EEESC 1 50.78 2

% | 4x100 | 3 6 218 BEE 5E TEEHESC 1 50.78 3

% | 4x100 | 3 6 219 REHA EFFE TEEESC 1 50.78 4

% | 4%100 | 3 7 424 INEFE B — B — S kg 3 55.65 4

% | 4x100 | 3 7 427 T — B — S M 3 55.65

Z | 4x100 | 3 7 428 &l *H — B — =Mt 3 55.65 2

Z | 4x100 | 3 7 1480 s = —BE— Skt 3 55.65 3

% | 4x100 | 3 7 1483 =W DEM — B — = Kid 3 55.65 1

% | 4x100 | 3 8 905 BR BEF LHAF 4 56.03 1

% | 4100 | 3 8 906 FAFZFERIE LH$ 4 56.03 2

% | 4x100 | 3 8 916 N BRE LHA$ 4 56.03 4

Z | 4x100 | 3 8 918 Bl B LHH$ 4 56.03 3

% | 4x100 | 4 2 573 iy A e KREFB 3 55.78 2

% | 4x100 | 4 2 578 EH FEF KREIHB 3 55.78 4

% | 4x100 | 4 2 1246 FTE FZFE KRFEHB 3 55.78 1

#Z | 4x100 | 4 2 1247 =H #Zib JKREHB 3 55.78 3

Z | 4x100 | 4 3 14 BEE 1A FER_HB DNS
% | 4x100 | 4 3 11 =% IEE FERZ—B DNS
% | 4x100 | 4 3 21 kg £& ER_BB DNS
% | 4%100 [ 4 3 1168 EX LZE ERZB DNS
% | 4x100 | 4 4 184 ZEO ER R thiL5C 2 55.75 4

% | 4x100 [ 4 4 361 INEH BR R[] Th 3 = C 2 55.75 1

% | 4x100 | 4 4 533 FE L R [ T 3 = C 2 55.75 2

% | 4x100 | 4 4 534 Ax BE RERE T 37 = C 2 55.75 3

% | 4x100 | 4 5 451 = b&E e b 5 57.20 1

Z | 4x100 | 4 5 454 INEH EIF dtth 5 57.20 2

% | 4x100 | 4 5 453 TS L Erh 5 57.20 3

% | 4x100 | 4 5 458 FTE e b 5 57.20 4

% | 4x100 | 4 6 48 Nk RP {E&JLhA 6 57.35 4

Z | 4x100 | 4 6 51 e fE&LhA 6 57.35 2

% | 4x100 | 4 6 49 AKX EBF E&JLhA 6 57.35 1

% | 4x100 | 4 6 52 BiE EC fE&EJLhA 6 57.35 3

% | 4x100 | 4 7 2 INER X REHRA 4 56.31 2

% | 4x100 | 4 7 5 aH KB HEidA 4 56.31 3

Z | 4x100 | 4 7 8 iE D FEIHA 4 56.31 4

% | 4100 | 4 7 1 =iE A HEIHhA 4 56.31 1

% | 4x100 | 4 8 1430 Bl BEE RAE+B 1 55.17 4

Z | 4100 | 4 8 1552 Pk 2% RAIFB 1 55.17 3

Z | 4100 | 4 8 1556 ZHA EE REHB 1 55.17 1

% | 4%100 [ 4 8 7 IR RAEI$B 1 55.17 2
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" | B | M |[L—|ERES K4 & 6| & | 25 | EE
% | 4x100 | 5 2 7 INL B FES 1 56.48 4
% | 4x100 | 5 2 545 2 & TES 1 56.48 3
% | 4x100 | 5 2 538 2l 1K TES 1 56.48 2
% | 4x100 | 5 2 544 FHBH FES 1 56.48

% | 4x100 | 5 2 542 2E £ TFES 1 56.48 1
% | 4x100 | 5 2 541 £ ED TES 1 56.48

% | 4100 | 5 3 1226 Fik 0 iE&degc 6 1.02.36 3
% | 4x100 | 5 3 1228 | EA K L& t&dtfc 6 1.02.36 1
Z | 4x100 | 5 3 1231 =H #F fe&dtc 6 1.02.36 2
% | 4x100 | 5 3 1232 e Y 1E&drdc 6 1.02.36 4
% | 4x100 | 5 4 59 AEg Efa it&it$B 6 1.02.36

% | 4x100 | 5 4 63 R fEK ft& B 6 1.02.36

% | 4x100 | 5 4 1229 B EE it&Jt$B 6 1.02.36

% | 4x100 | 5 4 1230 T8 {EH &4t $B 6 | 1.02.36

%Z | 4x100 | 5 5 211 W ER JK;REBA 4 1.00.97 3
Z | 4100 | 5 5 209 FH ERE JKREPA 4 1.00.97 4
% | 4x100 | 5 5 208 BEEAE JKiIRFA 4 1.00.97 1
% | 4%100 | 5 5 1291 a5f BE JKRFA 4 1.00.97 2
Z | 4x100 | 5 6 217 =8 KiE JK;REC 5 1.01.72 1
% | 4%100 | 5 6 1283 =R ER JKRFC 5 1.01.72 4
Z | 4x100 | 5 6 1288 FH =E KiRdC 5 1.01.72 3
% | 4x100 | 5 6 1281 EZELE KiRdC 5 1.01.72 2
% | 4x100 | 5 6 216 = =8 JKRepC 5 1.01.72

% | 4x100 | 5 7 571 INFF BE JKREEHC 2 58.55 4
% | 4x100 | 5 7 572 ME IHE JKREEHC 2 58.55 3
% | 4x100 | 5 7 1244 2R B JKiREEHC 2 58.55 1
% | 4x100 | 5 7 1248 5H Ex JKREE$C 2 58.55 2
% | 4x100 | 5 8 1289 BH Bt JK;RD 3 1.00.46 3
% | 4x100 | 5 8 1282 ki Hi JK;RPD 3 1.00.46 4
% | 4x100 | 5 8 1286 =% & KRHD 3 1.00.46 2
% | 4x100 | 5 8 1284 2R X JK;RD 3 1.00.46 1
% | 4100 | 5 8 1287 BEEHDY JK;RHD 3 1.00.46
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